Welcome to download the Newest 2passeasy 350-501 dumps

Q 2 P QsseaQs "J https://lwww.2passeasy.com/dumps/350-501/ (370 New Questions)

Exam Questions 350-501

Implementing and Operating Cisco Service Provider Network Core Technologies

https:/lwww.2passeasy.com/dumps/350-501/

Passing Certification Exams Made Easy visit - https://www.2PassEasy.com



Welcome to download the Newest 2passeasy 350-501 dumps

@ 2 P QsseaqQs LJ https://lwww.2passeasy.com/dumps/350-501/ (370 New Questions)

NEW QUESTION 1

Which three OSPF parameters must match before two devices can establish an OSPF adjacency? (Choose three.)

A. IP address

B. interface cost

C. subnet mask

D. process ID

E. hello timer setting
F. area number

Answer: CEF

NEW QUESTION 2
Refer to the exhibit:

Router 1:
ip route 192.168.1.0 255.255.255.0 null 0 tag 1
route-map ddos

match tag 1

set local preference 150

set community no export

route-map ddos permit 20

router bgp 65513
redistribute static route-map ddos

Router 2:

Interface gigabitethernet0/1
ip verify unicast reverse-path

An engineer is preparing to implement data plane security configuration. Which statement about this configuration is true?

A. Router 2 must configure a route to null O for network 192 168.1 0/24 for the RTBH implementation to be complete.

B. Router 1 is the trigger router in a RTBH implementation.
C. Router 1 must be configured with uRPF for the RTBH implementation to be effective.
D. Router 2 is the router receiving the DDoS attack

Answer: B

NEW QUESTION 3
Refer to the exhibit:

Lo0-1.1.1.1 Lo0-2.2.2.2

R1

R2#show mpls ldp neighbor

R2#show mpls ldp discovery detail
Local LDP Identifier:
2.2.2.2:0
Discovery Sources:
Targeted Hellos:
2.2.2.2 -> 1.1.1.1 (1ldp): active/passive, xmit

Hello interval: 5000 ms; Transport IP addr: 0.0.0.0

When implementing an LDP protocol, an engineer experienced an issue between two directly connected routers and noticed that no LDP neighbor exists for

1.1.1.1.
Which factor should be the reason for this situation?

A. LDP needs to be enabled on the R2 physical interface
B. R2 does not see any hellos from R1
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C. LDP needs to be enabled on the R2 loopback interface
D. R2 sees the wrong type of hellos from R1

Answer: B

NEW QUESTION 4
Which additional configuration is required for NetFlow to provide traceback information?

A. Cisco Express Forwarding must be configured for traffic that is egressing from the router to be properly reported.

B. A classification ACL must be configured to identify which type of traffic will be analyzed.

C. The BGP routing process must be started for any ingress or egress data to be reported when using NetFlo
D. Version 5.

E. LLDP must be configured or the device will be unable to locate a NetFlow analyzer.

Answer: B

Explanation:

Traffic Identification and Traceback
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NEW QUESTION 5

The administrator of a small company network notices that intermittent network issues occasionally cause inbound notifications to its SNMP servers to be lost.

Which configuration must the administrator apply so that the SNMP servers acknowledge the notifications that they receive?

A. snmp-server community ciscotest rw 10

B. snmp-server host tests.cisco.com public snmp-server community ciscotest rw 10
C. snmp-server enable traps bgpsnmp-server host 192.169.2.1 Informs

D. snmp-server enable traps snmp

Answer: C

NEW QUESTION 6
Refer to the exhibit.

A5 B5514

L PE1__ w»

AS B5515

L PE4__ L PE3
AS 65516 AS 65517

L PEs

Four midsize service providers provide access to different customers that use Layer 3 VPN services to enable communication across geographic regions. The
service providers are connected as shown in the exhibit, and the PEs have established eBGP relationships. PE4 has an IBGP relationship with PE5. The routes
that PE4 learns from PE5 must reach the other PE routers, but they are absent from the routing tables on the other PES. Which action should the engineers take

to correct the problem?

A. Configure a peering between all five Pes.

B. Disable BGP synchronization on PE4.

C. Enable BOP IPv4 unicast on PE4 and PES

D. Advertise the route targets for PE5 to the other PEs
Answer: A

NEW QUESTION 7
Refer to the exhibit.
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I snmp-server community ciscotest ro 2

What does the number 2 mean in the configuration?

A. It dictates the number of sessions that will be open with the SNMP manager
B. It represents the version of SNMP running.

C. It indicates two SNMP managers are able to read and write with the agent using community string ciscotest.

D. It is the numeric name of the ACL that contains the list of SNMP managers with access to the agent.

Answer: D

NEW QUESTION 8
Refer to the exhibit
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an engineer working for a private telecommunication company with an employee Id: 4065:96:080 upgrades the WAN link between routers ASBR-101 and
ASBR-201 to 1Gb by Installing a new physical connection between the Gi3 Interfaces. Which BGP attribute must the engineer configure on ASBR-201 so that the

existing WAN link on Gi2 Is maintained as a backup?
onfigure terminal
ip prefix-list ALLOWED_PREFIXES seq 5 permit 198.18.15.0/24

route-map ASE5101-0UT permit 10
match ip address prefix-list ALLOWED_PREFIXES
set as-path prepend 65101 65101

router bgp 65201

address-family Iipvd

neélghbor 10.142.20.1 route-map AS65101-0OUT out
end

configure terminal
ip prefix-list ALLOWED_PREFIXES seq 5 permit 198.18.15.0/24

route.map ASE5101-0UT permit 10
match Ip address prefix-list ALLOWED_PREFIXES
set as-path prepend 85101 65101

uﬂunﬁgum tarminal

ip prefix-list ALLOWED_PREFIXES saq 5 permit 198.18.15.0/24

route-map ASE5101-OUT permit 10
match ip address prefix-list ALLOWED _PREFIXKES
8t matric 100

routesr bgp 65201

address-family ipv4

neighbor 10.142.20.1 route-map ASS3101-0UT out
end

configure terminal
ip prefix-list ALLOWED_PREFIXES seq 5 permit 198.18.15.0/24

route-map ASS5101-0UT permit 10
match ip address prefic-list ALLOWED_PREFIXES
sat matric 100

router bop 65201

address-family ipv4

reighbor 10,142.20.5 route-map ASE5101-0UT out
end

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 9
Refer to the exhibit.
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Router 1

TenGigE0/0/0/1 is up, line protocol is up

Interface state transitions: 1

Dampening enabled: penalty 0, not suppressed
half-life 1 reuse : 750
suppress: 2000 max-suppress-time: 4
restart-penalty: 0

Hardware is TenGigE

Layer 1 Transport Mode is LAN

Description: [ to Router 1 ]

Internet address is 2.2.2.1/30

MTU 1574 bytes, BW 10000000 Kbit (Max: 10000000 Kbit)
reliability 255/255, txload 0/255, rxload 2/255

Router Z

TenGigabitEthernetl/l1l is up, line protocol is up (connected)
Hardware is C6k 10000Mb BO02.3
Description: [ to Router 2 |
Internet address is 2.2.2.2/30
MTU 1524 bytes, BW 10000000 Kbit/sec, DLY 10 usec,
reliability 255/255, txload 2/255, rxload 1/255

Router 1 and Router 2 were installed in the data center. Router 1 is the core router in the network, but it fails to establish an OSPF peering with Router 2. and
customer traffic is unable to pass. Router 1 also reports an increase in CPU and memory usage. However, the CPU for R2 is stable. Which action resolves this
issue?

A. Disable Cisco Express Forwarding on Router 2.
B. Change the transport mode to WAN on Router 1.
C. Change the MTU to 1524 on Router 1.

D. Enable MPLS on Router 2.

Answer: C

NEW QUESTION 10
Which feature describes the adjacency SID?

A. It applies only to point-to-point links.
B. It applies only to multipoint links

C. ltis locally unique

D. It is globally unique.

Answer: C

NEW QUESTION 10

When configuring traffic engineering tunnels in Cisco MPLS core network, you see the traffic is not taking the expected path in the core.
Which command do you use to quickly check path of a TE tunnel?

A. Traceroute mpls ipv4 -tunnel destination

B. Ping <tunnel destination IP>

C. show mpls traffic-engineering tunnels

D. traceroute <tunnel destination IP>

Answer: A

NEW QUESTION 13

How is a telemetry session established for data analytics?

A. A router initiates a session using the dial-out to a destination.

B. A destination initiate a session to a router.

C. The destination initiate a session using the dial-out more to the router.

D. A router requests the data using Teinet.

Answer: A

NEW QUESTION 16
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Refer to the exhibit.
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Routers R2 and R3 are Level 1/Level 2 IS-IS routers that redistribute 198 18.x.x/24 prefixes to routers R5 and R6 In the Level 1 area R2 Is to be the preferred

router for all redistributed prefixes in the Level 1 area. Which configuration sets this preference?
On R2
configure terminal
route.map LVL2_TO_LVL1 permit 10
et metric 5
end

on R2

configure terminal

route-map LVL2_TO_LVL1 permit 10
set metric 25

end

On R3

configure tarminal

route-map LVL2_TO_LVL1 permit 10
s&t matric 5

end

On R3

configure terminal

route.map LVL2_TO_LVL1 permit 10
set metnic 25

end

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 17
Refer to the exhibit:

R1
router ospf1
area 2 stub no-summary

R2
router ospf1
area J nssa

In which way does router R1 operate differently than router R2?

A. R1 sends LSA type 2 only, while R2 sends type 1 and type 7 LSAs
B. R1 sends LSA types 1 and 2, while R2 sends type 1. 2. and 7 LSAs
C. R1 sends LSA type 2 only and R2 sends LSA type 1 only

D. R1 sends LSA types 5 and 7, while R2 sends type 1, 2, and 7 LSAs
Answer: B

NEW QUESTION 20
Exhibit:
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Rl1f#show ip bgp 35.33.13.0
BGP routing table entry for 35.33.13.0/24, version 24
Paths: (3 available, best #3, table Default-IP-Routing-Table)
10
172.31.1.99 from 172.31.1.99 (1.1.1.1)

Origin IGP, metric 100, localpref 200, valid, internal
10

172.26.11.100 from 172.26.11.100 (3.3.3.3)

Origin IGP, metric 120, localpref 200, valid, external
18293

172.21.71.1 from 172.21.71.1 (2.2.2.2)
Origin IGP, metric 150, localpref 200, valid, external, best

A network engineer must update the routing toward the web server with IP address 35.22.13.1. The primary path must be configured via the neighbor router with
ID 1.1.1.1. However, local-preference configuration is not permitted on R1. Which task must the engineer perform on R1 to complete the implementation?

A. Configure the device to choose the best MED from the same AS.

B. Set the device to ignore the conditional MED if the route originated in a different autonomous system.
C. Enable MED comparison between routes from neighbors in different AS.

D. Implement deterministic MED to choose the best route from the different AS.

Answer: C

NEW QUESTION 23
Which component is similar to an EVPN instance?

A. MPLS label

B. IGP router ID
C.VRF

D. router distinguisher

Answer: C

NEW QUESTION 26
Refer to the exhibit:

R2
AS 65513

R4
AS 65515

R1 R3
AS 65512 AS 65514

BGPsec is implemented on R1. R2. R3. and R4 BGP peering is established between neighboring autonomous systems Which statement about implementation is
true?

A. BGP updates from the eBGP peers are appended with an additional AS path value that is statically set by the domain administrator

B. BGP updates from the iBGP peers are appended with a community of local-as

C. BGP updates from the all BGP peers are appended with a community of no export

D. BGP updates from the eBGP peers are appended with a BGPsec attribute sequence that includes a public key hash and digital signature

Answer: D

NEW QUESTION 30
Refer to the exhibit.
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4.2.2.0/30 3
Router 1 Router 2
Routerl (config) irouter ospf 1
Routerl (config-router) fnetwork 0.0.0.0 255 .255.255.255 area 0
Routerd (config) frouter ospf 1
Routerd (config-router) f#network 0.0.0.0 255.255.255.255 area 0

A network engineer must configure an LDP neighborship between two newly installed routers that are located in two different offices. Router 1 is the core router in
the network and it has already established OSPF adjacency with router 2. On router 1 and router 2. interface fa0/0 is configured for BFD. Which additional
configuration must the engineer apply to the two devices to meet the requirement?

A. Routerl(config)#int fa0/0 - Routerl(config-if)y#mpls Idp autoconfig Router2(config)#router ospf 1 - Router2(config-router)#mpls ip

B. Routerl(config)#int fa0/0 - Router1(config-if)j#mpls ip Routerl(config-if)j#mpls Idp discovery transport-address interface Router2(config)#int fa0/0 Router2(config-
if)#mpls ip Router2(config-ify#mpls Idp discovery transport-address interface

C. Routel(config)#int fa0/0 - Routerl(config-ify#mpls Idp autoconfigRouterl(config-ify#mpls Idp discovery interface Router2(config)#router ospf 1 Router2(config-
router)#mpls Idp autoconfig Router2(config-ify#mpls Idp discovery interface

D. Routerl(config)#int fa0/0 - Routerl(config-ify#mpls ip - Router2(config)#router ospf 1 Router2(config-router)#mpls Idp autoconfig

Answer: D

NEW QUESTION 35
Refer to the exhibit.

Router 1: Router 2:
Interface gigabitethermnet0/1 Interface gigabitethernet(/1
ip address 192.168.1.1 255.255.255.0 Ip address 192.168.1.2 255.255.255.0
| router ospf 1 Interface loopback 0
network 192.168.1.0 0.0.0.255 area 1 Ip address 192.168.2.1 255.259.255.0

router ospf 2
network 192.168.1.2 0.0.0.0 area 2
network 192.168.2.1 0.0.0.0 area 1

e —————————————— = —————u s |
Router 1 is missing the route for the router 2 loopback 0. What should the engineer change to fix the problem?

A. the area numbers on Router 1 and Router 2 to be similar
B. the wildcard mask network statement in OSPF of Router 2
C. Router 1 to be an ABR

D. the hello timers on Router 1 and Router 2 to be different

Answer: A

NEW QUESTION 40
A network engineer has configured TE tunnels in the MPLS provider core. Which two steps ensure traffic traverse? (Choose two.)

A. Static routes is the only option for directing traffic into a tunnel.

B. ECMP between tunnels allows RSVP to function correctly.

C. Forwarding adjacency features allows a tunnel to be Installed in the IGP table as a link.
D. The IGP metric of a tunnel is configured to prefer a certain path

E. A tunnel weight is configured in SPF database the same way as a native link.

Answer: CD

NEW QUESTION 41

What is the role of NSO?

A. Provides public cloud services for customers that need Internet access.
B. Controls the turn-up of a device.

C. Provides network monitoring services for Layer 3 devices.

D. Maintains data storage.

Answer: B

NEW QUESTION 43
Which capability does the MPLS TE FRR facility backup protection method provide?
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A. defining the set of characteristics for the backup TE LSP

B. leveraging label stacking to protect selected TE LSPs using a single backup TE LSP

C. creating a bypass LSP for each protected LSP at each point of local repair

D. assigning a backup TE LSP tunnel to the protected node at the headend of the protected TE LSP

Answer: C

NEW QUESTION 47
Drag and drop the NAT64 descriptions from the left onto the correct NAT64 types on the right.

It is imited on the number of endpoints. Nl

It uses address overloading.

It conserves IPv4 addresses.

It mandates IPv4-translatable IPv6 address

allocation.

It has 1:N translation.

A. Mastered
B. Not Mastered

Answer: A

Explanation:
Stateful (It has 1: N translation, It uses address overloading, It conservers IPv4 addresses)

Stateless (It is limited on the number of endpoints, It mandates IPv4-translatable IPv6 address allocation)

NEW QUESTION 49
Refer to the exhibit.

snmp-server view ViewDefault iso included

snmp-server group GrpMonitoring v3 priv read ViewDefault

A network engineer must implement SNMPv3 on a Cisco I0S XR router running BGP. The engineer configures SNMPv3 to use SHA for authentication and AES
for privacy on the routers, which are in a different data center in the same exchange as other routers. The engineer must also verify the associated MIB view family

name, storage type, and status. Which set of actions meets these requirements?

A. Add configuration snmp-server user UserJustMe GrpMonitoring v3 auth sha AuthPass1 priv 3des 128 PrivPass2 and use show snmp interface to verify the

configuration.

B. Add configuration snmp-server user AuthUser group2 remote 10.1.1.1 v3 auth sha and use show snmp mib to verify the configuration.
C. Add configuration snmp-server user AuthUser group2 remote 10.1.1.1 v3 auth sha and use show snmp engineid to verify the configuration.
D. Add configuration snmp-server user UserJustMe GrpMonitoring v3 auth sha AuthPass1 priv aes 128 PrivPass2 and use show snmp view to verify the

configuration.

Answer: C

NEW QUESTION 51
Refer to the exhibit.
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-

CEl PE1 PE2 CE2

=
CE1 and CEZ2 require connectivity to the internet through the ISP connected to PE3 What should an engineer configure to complete this task?

A. PE2 must be configured to serve as a route reflector for PE3 routes learned from the interne

B. PE2 then shares the routes with CE1 and CE2.

C. CE1 and CE2 must be configured with a route distinguisher in the PE1 VRF that dynamically imports the route from the internet.

D. CE1 and CE2 must be configured to use a static default route with a next-hop of PE3 to reach internet routes.

E. PE1 must be configured with an import route target in the CE1 VRF that matches the export route target for the internet VRF on PE3.

Answer: D

NEW QUESTION 54
Refer to the exhibit.
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A network engineer with an employee ID 4379:43:595 is setting up an IS-IS network with these requirements:
> Routes with a tag of 80 and IP prefixes other than 192.168.10.20/24 must be redistributed from Level 1 into Level 2.

> Route leaking must be configured from Level 2 into the Level 1 domain for routes that are tagged with only 50 or 40.
Which configuration must be implemented on RB to meet the requirements?

A. Add match tag 80 in route-map leak2-1

B. DUMPS Add match ip address 152 in route-map redist1-2

C. Remove match tag 40 from route-map leak2-1

D. Change match tag 80 to match tag 50 in route-map redist1-2.

Answer: D

NEW QUESTION 56
Refer to the exhibit.

RPSOSO/CPU0  2deabug 15ls adjacencies

RP/OJO/CPUD :Apr 2 20:57:00 421 : isis[1010]: RECV P2P IIN (L2Z)
from GigabitEtharnatd/0/0/0 SNPA fal6.3ebsa.aTbo: System ID R2,
Holdti=a 30, langth 1429

RP/O/0/CPU0 :Apr 2 20:57:01.761 : isis[1010]: SEND P2Z2P IIH (L1)
on H]gahu!ﬁihﬂrnﬁ!“fﬂfﬂfﬂ Holdtime 30s, Length 41

A network operator is attempting to configure an IS-IS adjacency between two routers, but the adjacency cannot be established. To troubleshoot the problem, the
operator collects this debugging output. Which interface are misconfigured on these routers?
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A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

NEW QUESTION 59
Refer to the exhibit.

A network engineer observed congestion between routers R1 and R4, which are connected on a point-to-point link. Two servers that reside on networks on R1 and
R4 generate heavy traffic between them with most traffic going from R4 to R1. To improve overall performance, the engineer wants to drop inbound packets that
exceed a configured threshold, without disrupting traffic that passes from R4 to R3. Which action must the engineer take to resolve the issue?

A. Implement traffic policing to drop packets that exceed the given threshold.

B. Implement FIFO to queue excess traffic for transmission when bandwidth is available.

C. Implement traffic shaping to drop excess packets.

D. Implement a service policy in the outbound direction on each interface on the link to tag traffic exiting each router.

Answer: A

NEW QUESTION 62
Which OS uses a distributed subsystem architecture?

A. I0S XE
B. 10S

C.I0S XR
D. CatOS

Answer: C

NEW QUESTION 63
Refer to the exhibit:

snmp-server host 192.168.1.1 version 2c public

A network administrator wants to enhance the security for SNMP for this configuration. Which action can the network administrator implement?
A. Re-configure to use SNMPv2 with MD5 authentication

B. Add a community string to the existing entry

C. Re-configure to use SNMPv3.

D. Maintain the configuration but switch to an encrypted password for device access through SSH

Answer: C

NEW QUESTION 67
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Refer to the exhibit.

@.' i 10 107 10, 070 r |

A5 E5200

EFAO/0/CPT0: ASBRL§alaw Fisn rollat BJp
Tue Jun 2 071838134 UTC
router bgp 3200
stdress-family Lpwd unicast
|
neighbor 10.100.501.2
remate-as &5300
addrans- fami Ly fpvd uanicast

maximm-pralfis 100 50
roate-policy BOP-DEFADLT-OMLY-OOT out
dalault-originate
salt-padanl Lguration lakusd always
[
1

Tus Jun 2 07053886 OTC
prefiz-s=t ASH-&3300
172.16. 3. 0724

and-sat
[]

roalé-pal idy BGP-CUSTOMER- IN(ASN-&5300} in

AS 65300

EFQ/0/CPUQ: ASBRLE RS FEnAng-canlig praliZ-ast ASN-£31300

A network engineer is implementing a standard customer route-policy on ASBR1 with these requirements:

* It must accept only customer-assigned prefixes

* It must preserve customer advertised BGP communities
* It must set the local-preference to 110 for all prefixes

« It must attach the ORIGINATION-PE and LOCAL-CITY communities to all accepted prefixes. Which route policy must the engineer implement on ASBR1 to

satisfy the requirements?
TUUE= LY BT e 3 BRI P 3 mER_F REFIA]
if destination in $CUSTOMER_PREFIX then
done
alse
drap
aendif
set local-preference 110
set community ORIGINATION-FE
get community LOCAL-CITY additive
end-policy

raute-poliey BGP-CUSTOMER-IN{SCUSTOMER_PREFIX)
if destination in $CUSTOMER_PREFIX then
pass
else
drop
and|f
set local-preference 110
set community ORIGINATION-PE
set community LOCAL-CITY additive
end-policy

route-policy BGP-CUSTOMER-IN{SCUSTOMER_PREFIX)
if destination in SCUSTOMER_PREFIX then
done

alse
drop
endif
zet local-preference 110
set community ORIGINATION-PE additive
set community LOCAL-CITY additive
end-policy

i= route-policy BGP-CUSTOMER-IN(3CUSTOMER_PREFIX)
if destination in SCUSTOMER_PREFIX then
pass
alsa
drop
and|f
set local-preference 110
set community ORIGINATION-PE additive

set cammunity LOCAL-CITY additive
end-policy

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 71

Drag and drop the technologies from the left onto the correct definitions on the right.
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DWDM
ROADM
IPoDWDM
EDFA
A. Mastered
B. Not Mastered
Answer: A
Explanation:
DWDM
ROADM
IPoDWDM
EDFA

NEW QUESTION 73
Refer to the exhibit.

required for routes and switches to have DWDM
and ITU-T G.709 implemented

used to amplify an optical signal

used to drop certain lambdas within a DWDM ring
at a specific location

Increases bandwidth over a single fiber by using
different wavelengths

IPoDWDM

EDFA

ROADM

DWDM

192.168.2.21

traceroute 193.168.2.371

TYpe sscape sequence to abort

Tracing the routes to 192 .188.2. 21

info: [(vef in name/id, vrf out nams/id)
10.1.1.2 20 maec 14 masc 1) msac

10.2.11.5 13 menc 17 masc 17 masc
10.2.45.2 10 maac *

upuuﬁe

Customer A London’s Office

10,1.1.3 [MFLE: Labsls 13/14 Exp 0] 1) meec 14 seec 11 meec
10.2.11.7 [MFLS: Labals 14/4) Exp 0] 1) masc 1d mssc 11 maec

ISP A provides MPLS L3VPN service to customer A with BGP as the external routing protocol. Customer A has just opened a new branch office in London and
requested the service provider to implement lossless service between its two offices. The LDP is enabled over the MPLS backbone and label
exchange is working normally. Which action must the ISP engineering team take to enable the service?
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A. Configure LDP and redistribute the route from EIGRP.
B. Configure BGP address family VPNv4.

C. Configure IGP and redistribute the route from BGP.
D. Configure IGP LDP synchronization

Answer: D

NEW QUESTION 77
Refer to the exhibit:

router bgp 1

network 192.168.1.2 mask 255.255.255.255
neighbor 192.168.1.1 remote-as 64512

neighbor 192.168.1.1 update-source Loopback0
neighbor 192.168.1.1 send-label

Which statement about the neighbor statements for 192.168.1.1 is true?

A. The router must have TDP configured for the send-label command to operate
B. The neighbor router receives at least four labels from this router

C. The router sends BGP labels for its prefixes to this peer

D. The router sends only a label for the prefix for LoopbackO.

Answer: C

NEW QUESTION 82
Refer to the exhibit.

router bgp 65515
aggregate-address 192.168.0.0 255.255.0.0 summary-only as-set

An engineer configured BGP summarization on a customer's network. Which route is advertised to BGP peers?
A. A-192.0.0.0/16B.192168.0.0/16C.192.168.1.0/24D.192168.0.5/30

Answer: B

NEW QUESTION 84
Simulation1

Implementing and Operating Cisco Service Provider Netwol

[%, Comment

R M 350-701

15-15 Multi-Area Topology
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Luidelings

s 1 g 1 f i f e ,
CRLEE LEwg 7 AOLITING Pra e ™ i, O Ly o

freye e BAS
=

A. Mastered
B. Not Mastered

Answer: A

Explanation:

SOLUTION:R1

Config t router isis 1

net 49.0001.0010.0001.0101.00

area-password C1scO0! int et0/0

ip router isis 1

isis authen mode text level-2 isis circuit-type level-2
isis tag 1 int et1/0

ip router isis 1

isis authen mode text level-2 isis circuit-type level-2
isis tag 1 R2

router isis 2

net 49.0001.0010.0002.0202.00

area-password C1scO0! int et0/0

ip router isis 2

isis authen mode text level-2 isis circuit-type level-2
isis tag 2 int et1/0

ip router isis 2

isis authen mode text level-1 isis circuit-type level-1
isis tag 2 R3

router isis 3

net 49.0001.0010.0003.0303.00

area-password C1scO0! int et0/0

ip router isis 3
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isis authen mode text level-1 isis circuit-type level-1
isis tag 3 int et1/0

ip router isis 3

isis authen mode text level-2 isis circuit-type level-2
isis tag 3

R1 Verification:

R1

Config t

Ipv6 unicast-routing Router isis 1
Metric-style wide

Address-family ipv6 unicast Multi-topology
Int loop0

Ip router isis 1 Ipv6 router isis 1 Isis tag 1
Int et0/0

Ipv6 router isis 1 Int et1/0

Ipv6 router isis 1 R2

Config t

Ipv6 unicast-routing Router isis 2
Metric-style wide

Address-family ipv6 unicast Multi-topology
Int loopO0

Ip router isis 2 Ipv6 router isis 2 Isis tag 2
Int et0/0

Ipv6 router isis 2 Int et1/0

Ipv6 router isis 2 R3

Config t

Ipv6 unicast-routing Router isis 3
Metric-style wide

Address-family ipv6 unicast Multi-topology
Int loopO0

Ip router isis 3 Ipv6 router isis 3 Isis tag 3
Int et0/0

Ipv6 router isis 3 Int etl/0

Ipv6 router isis 3

R1 Ipv6 Verification:
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R1

Copy run start R2
Copy run start R3
Copy run start

NEW QUESTION 87
What are the two uses of the YANG data modeling language? (Choose two.)

A. Itis used to access a device by HTTP.

B. It Is used to model the configuration used by NETCONF operations.

C. ltis used to shape state data of network elements.

D. It Is used to replace RESTCONF as a mechanism to install and manipulate configuration.
E. Itis used to replace the OSI model for troubleshooting.

Answer: BC

NEW QUESTION 91
Refer to the exhibit:

ip flow-export source loopback 0
ip flow-export destination 192.168.1.1
ip flow-export version 5 origin-as

It the NetFlow configuration is updated to version 9, which additional piece of information can be reported"?

A. IPv6 flow information
B. flow sequence numbers
C. BGP AS information
D. IPv4 flow information

Answer: A

NEW QUESTION 94
An engineer is setting up overlapping VPNs to allow VRF ABC and XYZ to communicate with VRF
CENTRAL but wants to make sure that VRF ABC and XYZ cannot communicate. Which configuration accomplishes these objectives?
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-1
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ArgeE

o
vef XY2Z
address-family ipvd unicast
SEpOET Foute-target
£5000:2222
E2000: 4444
unlcast
I MELICaFT
ref X¥2
lﬂ:‘.:‘t,‘_!—fl:'_'_'.' ‘_p‘.-"i NRiCasT
import route-target
£5000:2222
e-Target
amily ipvd unicast
_.FF-'i::i‘L
e-Targec
A. Option A
B. Option B
C. Option C
D. Option D
Answer: C

NEW QUESTION 95
Refer to the exhibit.
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8

L R2
e RS
.

A host connected to R3 must connect with a server on R1 that provides critical,
time-sensitive data. Traffic between the host and server must always be given bandwidth to traverse the links when they are congested, with other traffic being
dropped. How must the network engineer implement a QoS strategy with classification to ensure that the traffic is given the appropriate bandwidth?

A. Implement FIFO to guarantee that the server traffic is sent first while other traffic is queued.
B. Implement policing to rate-limit noncritical traffic that exceeds designated thresholds.

C. Implement traffic shaping to delay noncritical traffic when the link is congested.

D. Implement strict priority to guarantee bandwidth for the server traffic.

Answer: D

NEW QUESTION 100
Refer to the exhibit. [° 1

/N

R2(confiq) #1p route 10.0.1.1

6 F
L
L
L5

Management DMZ Server
Router Router 192.168.10.100

router(config)# route-map blackhole-trigger router(config-route-map)# match tag 777 router(config-route-map)# set ip next-hop 10.0.1.1 router(config-route-map)#
set origin igp router{config-route-map)# set community no-export

EIGRP is running across the core to exchange internal routes, and each router maintains iBGP adjacency with the other routers on the network. An operator has
configured static routes on the edge routers R1 and R2 for IP address 10.0.1.1, which is used as a black hole route as shown. Which configuration should the
operator implement to the management router to create a route map that will redistribute tagged static routes into BGP and create a static route to blackhole traffic
with tag 777 that is destined to the server at 192.168.10.100?

A. router(config)# router bgp 55100router(config-router)# redistribute static route-map blackhole-trigger router(config)# ip route 10.0.1.1 255.255.255.255 Null0 tag
777

B. router(config)# router bgp 55100router(config-router)# redistribute static route-map blackhole-trigger router(config)# ip route 192.168.10.100 255.255.255.255
NullO tag 777

C. router(config)# router bgp 55100 router(config-router)# redistribute connectedrouter(config)# ip route 192.168.10.100 255.255.255.255 tag 777
D. router(config)# router bgp 55100router(config-router)# redistribute connected route-map blackhole-trigger router(config)# ip route 192.168.10.100
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255.255.255.255 Nullo tag 777

Answer: B

NEW QUESTION 102
Refer to the exhibit.

R1

ip multicast-routing
ip pim rp-candidate GigabitEthernetl/0/0

interface gl/0/0
ip pim sparse-mode

R2
ip multicast-routing

ip pim bsr-candidate GigabitEthernetl/0/0

interface gl/0/0
ip pim sparse-mode

An engineer configured multicast routing on client's network. What is the effect of this multicast implementation?

A. R2 floods information about R1 throughout the multicast domain.

B. R2 is unable to share information because the ip pirn autorp listener command is missing.
C. R1 floods information about R2 throughout the multicast domain.

D. R2 is elected as the RP for this domain.

Answer: B

NEW QUESTION 106

What is a characteristics of the Pipe model for MPLS Qo0S?

A. The same QoS policy is applied to all customer traffic on the egress PE.
B. If the outer EXP is changed, it is copied to the DSCP value.

C. The MPLS EXP bits are set by the CE.

D. The DSCP value determines how the packet is forwarded

Answer: A

NEW QUESTION 107
Refer to the exhibit.

configure
poelicy-map ciscopolicy
class ciscotest
set precedence 1
exitc
axit
interface pos 0/2/0/0
sarvice-policy output ciscopolicy
commlt

An engineer needs to implement this QoS policy on customer's network due to ongoing slow network issues. What will be the effect on the network when the
engineer implements this configuration?

A. Traffic that is identified in the ciscotest class map will be remarked from IP precedence 1 to DSCP AF11 when it enters the pos0/2/0/0 interface.
B. Traffic that is identified in the ciscopolicy class map will be marked with IP precedence 1 when it enters the pos0/2/0/0 interface.

C. Traffic that is identified in the ciscopolicy class map will be remarked from IP precedence 1 to DSCP AF11 when it exits the pos0/2/0/0 interface.
D. Traffic that is identified in the ciscotest class map will be marked with IP precedence 1 when it exits the poso/2/0/0 interface.

Answer: D

NEW QUESTION 108
Refer to the exhibit.
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router bgp 65515
bgp router-id 192.168.1.1
no bgp default ipv4-unicast
bgp log-neighbor-changes
neighbor 192.168.1.2 remote-as 65515
neighbor 192.168.2.2 remote—-as 65515

A network engineer is configuring a new router for iBGP to improve the capacity of a growing network. The router must establish an iBGP peer relationship with its
neighbor. The underlay network is already configured with the correct IP addresses. Which step should the engineer apply to complete this task?

A. Implement multicast routing on the router to support BGP hellos.

B. Configure the AS number for the router to share with its iBGP peers.

C. Configure the new router as an iBGP route reflector to support multiple iBGP peers.
D. Activate the BGP peers under the correct address family on the router.

Answer: D

NEW QUESTION 109

Which action occurs during the traceback phase of the six-phase approach to service provider security?
A. Trace action occur flows from the stacked sections of the network toward the network edges

B. Detect unusual activity or behavior and activate appropriate measures after an alert is raised.

C. Review the whole attack-handling process

D. Mitigate the attack that flows using various mechanisms.

Answer: A

NEW QUESTION 111
Refer to the exhibit.

R1
interface Ethernetl/l

ip address 172.16.33.1 255.255.255.23%5
interface Ethernetl/0

ip address 172.16.32.1 255.255.255.0
router ospf 20

natwork 172.16.0.0 0.0.255.255 area 0

R2
interface Etharnatl/l
ip address 172.16.30.1 255.255.255.255
interface Ethearnetl/D
ip address 172.16.32.2 255.255.255.0
routar aspt 20
network 172.16.0.0 0.0.35%5%.2%% area 0
distribute=1ist 1 in
accepg-lige 1 permit 172.16.32.0. 0.0.0.255

R2# ghow ip route

172.16.0.0/16 1a variahly subnetced, 3 subneta, 2 masks

H 172.16.32.0/24 18 directly connected, Ethearnetlsd
C 172.06.30.1/32 is directly connected, Ethernetl/l

A network engineer notices that router R2 is failing to install network 172.16.33.1/32 in the routing table. Which configuration must the engineer apply to R2 to fix
the problem?

A. R2(config)# access-list 1 permit 172.16.33.0 255.0.0.0

B. R2(config)# access-list 1 permit 172,16,33.0 255,255,255,0
C. R2(config)# access-list 1 permit 172.16.33.0 0.0.0.255

D. R2(config)# access-list 1 permit 172,16,33.0 255.255,0,0
Answer: C

NEW QUESTION 116
Refer to the exhibit.
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|
|

*Jan 13 01:11:47.432: Reserved port 0 in Transport Port Ageat for TCP 1P type 0
*Jan 1) 01:11:47.432: TCP: connection attampt to port 179
*Jan 13 01:11:47.432: TCP: sending RST, saq 0. ack 213204

11

i
]
.. idabug ip tcp transactions |
i
J
1
|
‘Jan 1) 01 (47.432: TCP: sent RST to 172.34.172.1:41231 from 10.121.123.1:179% |

ISP_A and ISP_B use AS numbers 38321 and 16213 respectively. After a network engineer reloaded router R1, the BGP session with R2 failed to establish. The
engineer confirmed BGP next-hop availability with a connectivity test between the router loopback addresses 10.121.123.2 and 10.121.123.1, as well as between
interfaces Gil/1 and Gil/2. EBGP multihop has been configured on both routers. Which action must the engineer take to resolve the issue?

A. Configure transport connection-mod®© passive on R2.
B. Configure neighbor 172.16.172.1 authentication on R1
C. Configure neighbor update-source 100 on R2

D. Configure remote-as 16213 on R1.

Answer: C

NEW QUESTION 117

Which function does RSVP perform in a Cisco MPLS TE environment?

A. It establishes targeted LDP sessions between neighbors that are directly connected.

B. It signals to LDP protocol along the path that a Cisco MPLS TE will be configured.

C. It reserves bandwidth for LDP sessions between routers participating in a Cisco MPLS TE.
D. It reserves the bandwidth along the path between the head-end and tail-end router.
Answer: D

NEW QUESTION 120
Refer to the exhibit.

7 g

A% M0

A% 00

A network engineer is implementing iBGP and eBGP between AS 600 and AS 500 with these requirements:

> R2 must wait for 30 seconds before sending BGP updates to R5 for multicast traffic.
Which action must be taken on R2 to meet the requirements?

A. Configure advertisement-interval 30 In address-family ipv4 unicast
B. Configure advertisement-Interval 30 in address-family Ipv4 multicast
C. Apply timers bgp 30 in address-family ipv4 unicast

D. Apply timers bgp 30 in address-family ipv4 multicast.

Answer: B

NEW QUESTION 125
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Refer to the exhibit.
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A network engineer configures CPE-1 for QoS with these requirements: IPv4 and IPv6 traffic originated by the CPE-1 WAN IP address must be marked with DSCP

CS3. IPv4 LAN traffic must be marked with DSCP CS1.
IPv6 LAN traffic must be marked with DSCP default.
Which configuration must the engineer implement on CPE-1?

A. class-map match-any SELF_TRAFFIC match access-group name SELF_V4 match access-group name SELF_V6 class-map match-all V4_ TRAFFIC match
protocol ipclass-map match-all V6_TRAFFIC match protocol ipv6class-map match-all QG_4 match gos-group 4class-map match-all QG_6 match qos-group
6!policy-map LAN-INPUT class V4_TRAFFICset qos-group 4 class V6_TRAFFIC set qos-group 6!policy-map WAN-OUTPUT class SELF_TRAFFICset ip dscp ¢cs3

class QG_4 set ip dscp csl class QG_6set ip dscp default

B. class-map match-all SELF_TRAFFIC match access-group name SELF_V4 match access-group name SELF_V6 class-map match-all V4_ TRAFFIC match
protocol ipclass-map match-all V6_TRAFFIC match protocol ipv6class-map match-all QG_4 match gos-group 4class-map match-all QG_6 match qos-group
6!policy-map LAN-INPUT class V4_TRAFFICset qos-group 4 class V6_TRAFFIC set qos-group 6!policy-map WAN-OUTPUT class SELF_TRAFFICset dscp ¢s3

class QG_4 set ip dscp csl class QG_6set dscp default

C. class-map match-all SELF_TRAFFIC match access-group hame SELF V4 match access-group name SELF_V6 class-map match-all V4 _ TRAFFIC match
protocol ipclass-map match-all V6_ TRAFFIC match protocol ipv6class-map match-all QG_4 match gos-group 4class-map match-all QG_6 match qos-group
6!policy-map LAN-INPUT class V4_TRAFFICset qos-group 4 class V6_TRAFFIC set gqos-group 6!policy-map WAN-OUTPUT class SELF_TRAFFICset ip dscp ¢cs3

class QG_4 set ip dscp csl class QG_6set ip dscp default

D. class-map match-any SELF_TRAFFIC match access-group name SELF_V4 match access-group name SELF_V6 class-map match-all V4_ TRAFFIC match
protocol ipclass-map match-all V6_TRAFFIC match protocol ipv6class-map match-all QG_4 match gos-group 4class-map match-all QG_6 match qos-group
6!policy-map LAN-INPUT class V4_TRAFFICset qos-group 4 class V6_TRAFFIC set qos-group 6!policy-map WAN-OUTPUT class SELF_TRAFFICset dscp ¢s3

class QG_4 set ip dscp csl class QG_6set dscp default

Answer: A

NEW QUESTION 126
Refer To the exhibit:

R2#sh cins neighbors detail

Tag TEST:
SystemId Interface SNPA State Holdtime  Type Protocol
R1 Fa0/0 ca01.2178.0008 Up 89 L1L2 18-S

Area Address(es): 49

Uptime: 00:03:29

NSF capable

Interface name: FastEthernet0/0

On R1, which output does the show isis neighbors command generate?
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A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 129
Refer to the exhibit.

ip vrt

72 . 16.10.0/24

Gi0/2
Customar A

Gic/1

tshow ip vri
Saza
Customer A

A.éah run intarface gil/1
Muilding configuration

Current coafiguration 84 byteas

interface GigabitEthernet0/1

forwarding Customar A

\p aadress 10 10 10 2 25%.299,2%%

]
=

WP -BCP

WPLS

Default KD
200:1

Gi0rs1

— -

S10/1

Intearfaceas
Gi0/1

172 .16.20.0/24
Customar A

LY

Customer_A asked ISP_A to connect two offices via an MPLS L3 VPN. Customer_A is currently using only the default route toward ISP_A. The engineer at ISP_A
already configured the ip route vrf Customer_A 172.16.10.0 255.255.255.0 10.10.10.1 command on R1. Which action completes the configuration?

A. Configure the network 172.16.10.0 and redistribute-internal static commands under the BGP address family for Customer_A in the global BGP configuration on

R1.

B. Enable the bgp default route-target filter and default-Information originate commands under the global BGP configuration on R2.
C. Configure the route-target both 200:1 and route-replicate vrf Customer_A commands under the Ip vrf configuration on R2.

D. Configure the redistribute static and redistribute connected commands on R1.

Answer: D

NEW QUESTION 131
Refer to the exhibit:
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R1

routar isis
net 52.0011.0000.0000.0001.00
is-type level-2

interface gigabitethernet0/1
ip address 192.168.0.1 255.255.255.0
ip router isis

R2

router isis
net 52.0022.0000.0000.0002.00
is-type level-1

interface gigabitethernetd/1
ip address 192.168.0.2 255.255.255.0
ip router isis

Which statement about the status of the neighbor relationship between R1 and R2 is true?

A. The neighbor relationship is down because the two routers are configured with different area types

B. The neighbor relationship is down because the two routers are in the same subnet.

C. The neighbor relationship is up because R2 is level 1 and level 2 router.

D. The neighbor relationship is down because R2 is operating as a Level 1 router and the two routers are in different area

Answer: D

NEW QUESTION 133
Refer to the exhibit

11.11.11..11 / OSPF Backbone 0 \11_21_22_22

» 10.10.10.0/30 N e, 10.10.10.0/30 g 5

192.168.10.0/24
Broadband use

PE1l (confiqg) # Policy-map PMI10

PE1l (config-pmap) # class CM-10

PE1l (config-pmap-c) # set dscp 4

PEl (config-pmap-c) # exit

PEl (config-pmap) # class CM-20

PE1l (config-pmap-c) # set dscp 6

PE1 (config-pmap-c) # exit

PE1l (config-pmap) # exit

PE1l (config) # interface Gel/1

FEl (config-1f) # switch mode access
PE1l (config-if) # service-policy input PM10

A user is performing QoS marking on internet traffic and sending it with IPv4 and IPv6 headers on the provider edge device PEL. IPv4 traffic is classified with
DSCP 4 and IPv6 traffic is classified with DSCP 6. Which action must the engineer take to begin implementing a QoS configuration on PE1 for the IPv6 traffic?

A. Create an access list that includes any IPv6 traffic and apply it to CM-20.

B. Create access list IPv6-match and configure match ip dscp 4 and match ip dscp 6 in class maps CM-10 and CM-20.
C. Configure match ip dscp 4 in class map CM-10 and match ip dscp 6 in class map CM-20.

D. Create access list IPv6-filter and remove DSCP value 4 and 6 in class maps CM-10 and CM-20.

Answer: A
NEW QUESTION 136
A customer site is being connected to a Frame Relay network via a T1 link. The customer has a contract for 512 kbps service with a Tc value of 125 ms. Under

peak line conditions, customer traffic can reach four times the contracted speed. Which QoS configuration must the service provider implement to limit the
customer to the contracted values?
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policy-map policy_map

class class_map
police cir 512000 bc 64000 pir 20480000 be 192000
conform-action transmit
exceed-action drop

policy-map policy_map
class class_map
police cir 512kbps be 256kbps pir 2Mbps be 9600 kbps
conform-action transmit
excead-action set-de-bit transmit
violate-action drop

policy-map policy_map

class class_map
police cir 512000 bc 128000 pir 256000 be 32000
conform-action transmit
excead-action set-ba-bit transmit
exceed-action drop

policy-map policy_map

class class_map

police cir 512000 be 32000 pir 64000 be 6400
conform-action transmit
viclate-action snt-dscp-transmlt default
exceed-action dl‘ﬂp

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 138
Refer to the exhibit.

—~ y : e —
-~ - ry T
»

10,10,50,0/24

# 20.10.30.0/24 k 1114 4 2222 1333 N/ 4444 wsu

§ ' 172.16.0.0/24
10100728 ., IS5 12 ;

£ e — - _

—_

A network engineer must meet these requirements to provide a connects, solution:
> The Customer must not have access to the 20.10 30.0/24 subnet.

> The service provider must make sure that the Area 2 routing database limits the number of IP addresses in the routing table
Which two configurations must be implemented to meet the requirements? (Choose two)

A. Set a tag value of 200 to match the summary address 10.0.0/16 on R2.

B. Set a tag value of 200 to match the summary address 10.0.0.0/16 on R3.

C. Apply the route map for tag 200 and leak Level 2 routes into Level 1 Area 2 on R3
D. Apply the route map for tag 200 and teak Level 2 routes into Level 1 Area 2 on R4.
E. Set a tag value of 200 to match the summary address 10.0.0./16 on R1.

Answer: BC

NEW QUESTION 140
Refer to the exhibit:

RP/O/RSPO/CPUO : JFK-PE#show mpls ldp bindings 192.168.10.10/32
Frai Nov 11 21:02:33.124 uUTC

192.168.10.10/32, rev 2
Local binding: label: ImpNull

Remote bindings: (2 peers)
Peer Label
10.10.10.2:0 562656
10.10.10.5:0 378337

After implementing a new design for the network, a technician reviews the pictured CLI output as part of the MOP.
Which two statements describe what the technician can ascertain from the ImpNull output? (Choose two.)

A. Label 0 is used for the prefix displayed but will not be part of the MPLS label stack for packets destined for 192 168.10.10.
B. Ultimate Hop Popping is in use for the prefix displayed.
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C. Label 0 is used for the prefix displayed and will be part of the MPLS label stack for packets destined for 192.168.10.10

D. Penultimate Hop Popping is in use for the prefix displayed

E. Label 3 is in use for the prefix displayed and will be part of the MPLS label stack for packets destined for 192.168.10.10

Answer: DE

NEW QUESTION 142
Refer to the exhibit:

interface gigabitethernet1/0
xconnect 192.168.0.1 12 encapsulation mpls pw-class cisco

Which effect of this configuration is true?

A. it creates a pseudowire class named Cisco

B. It enables tagging for VLAN 12 on the interface
C. It enables MPLS on the interface

D. It enables AToM on interface gigabitethemet1/0

Answer: D

NEW QUESTION 147
What is the purpose of RSVP tear messages?

A. to notify the tail-end router of resource unavailability on the transit router
B. to inform the headend router of LSP issues

C. to reuse router resources for other reservation requests

D. to confirm successful end-to-end resource allocation

Answer: C

NEW QUESTION 149
Which two routing protocols support Cisco MPLS TE tunnels? (Choose two.)

A.1S-IS
B. RIP
C.BGP
D. OSPF
E. EIGRP

Answer: AD

NEW QUESTION 150

Which is the benefit of implementing model-driven telemetry in a service provider environment?
A. It reduces the number of network monitoring tools that are necessary to verify device statistics.
B. It increases the efficiency of SNMP by pulling system data to requesting servers.

C. It reduces or eliminates the need to monitor Layer 2 traffic between switches.

D. It uses reliable transport to push Information to network monitoring tools

Answer: D

NEW QUESTION 155

A network administrator is planning a new network with a segment-routing architecture using a distributed control plane. How is routing information distributed on

such a network?

A. Each segment is signalled by an SR controller, but each segment makes Its own steering decisions based on SR policy.
B. Each segment is signalled by MPLS, and each segment makes steering decisions based on the routing policy pushed by BGP.

C. Each segment is signalled by an SR controller that makes the steering decisions for each node.

D. Each segment is signalled by a compatible routing protocol and each segment makes its own steering decisions based on SR policy.

Answer: D

Explanation:

https://www.cisco.com/c/en/us/support/docs/multiprotocol-label-switching-mpls/mpls/215215-segment-routing-

NEW QUESTION 156
Which regular expression query maodifier function indicates the start of a string?

cowz>
@»+3 >

Answer: A
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NEW QUESTION 160

What are two features of 6RD IPv6 transition mechanism? (Choose two.)

A. It inserts IPv4 bits into an IPv6 delegated prefix.

B. It uses a native IPv6-routed network between CE routers and the BR router.

C. It allows dynamic 1:N translation of IPv6 address.

D. It uses stateful automatic 6to4 tunnels between CE routers and the BR router.
E. It uses stateless automatic 6to4 tunnels between CE routers and the BR router.

Answer: AE

NEW QUESTION 161
Refer to the exhibit:

telemetry model-driven

Nl'l'l‘?l”"].ll‘”ll]ﬂ CISCO

commit

sensor-path Cisco-10S-XR-infra-statsd-oper:infra-statistics /interfaces/interface /latest /generic-counters

This configuration is being applied on an 10S XR router. Which statement about this configuration is true?

A. It is used to create a subscription to specify the streaming interval

B. It is used to identify traps for SNMP polling
C. Itis used to identify MIB entries and has a list of YANG models

D. It is used to create a sensor-group and has a list of YANG models for streaming

Answer: D

NEW QUESTION 164

A new PE router is configured to run OSPF as an IGP with LDP on all interfaces. The engineer is trying to prevent black holes after convergence when the
PERSON device loses an LDP session with other PE routers. Which action must the engineer take to implement LDP session protection on a new PE router?

A. Configure the mpls Idp session protection and mpls label protocol Idp commands on the interfaces on the new PE router that connect to the CENTER routers.
B. Configure the mpls Idp discovery targeted-hello accept and mpls Idp session protection commands on the interfaces on the new PE router that connect to the

CE routers.

C. Configure the new PE router with the mpls Idp session protection command and on neighboring routersthat connect to this new PE router.

D. Configure the new PE router with the mpls Idp session protection command on interfaces with directly connected neighbors.

Answer: C

NEW QUESTION 168
How does model-driven telemetry use YANG?

A. to reset network devices that malfunction

B. to set informs and traps on clients to report back to a centralized server

C. to subscribe to data that is streamed from a device
D. to poll network devices on a 30-minute interval

Answer: C

NEW QUESTION 172
Refer to the exhibit.

PE-A:

vrf definition Customer-a
rd &5000:1111
route-target 0

route-target import
!

address-family ipv4d
mdt default 233.15.3
mdt data 233.15.38.1
mdt mtu 5000

interface GigabitEthernet(/0

vrf forwarding Customer-A

ip address 10.10.10.1 255.255.255.252
!
ip multicast-routing vrf Customer-2a

An engineer is implementing Auto-RP and reviewing the configuration of the PE-A. Which configuration permits Auto-RP messages to be forwarded over this

interface?

A. PE-A(config-if)#ip pim sparse-mode
B. PE-A(config-if)#no ip pim bsr-border
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C. PE-A(config-if)#ip igmp version 3
D. PE-A(config-if)#ip pim sparse-dense-mode

Answer: D

NEW QUESTION 173
Refer to the exhibit:

PE-A PE-B
! !
interface FastEthernet0/0 interface FastEthernet0/0
ip address 10.10.10.1 255.255.255.252 ip address 10.10.10.2 255.255.255.252
ip ospf authentication null ip ospf authentication null
ip ospf 1 area 0 ip mtu 1400
duplex full ip ospf 1 area 0
end duplex half
end

! !
router ospf 1
log-adjacency-changes Rl#sho run | b router ospf
passive-interface Loopback0
network 10.10.10.0 0.0.0.3 area 0 log-adjacency-changes

default-metric 200 passive-interface Loopbackl0
! network 10.10.10.0 0.0.0.255 area 0
default-metric 100

router ospf 1

Which configuration prevents the OSPF neighbor from establishing?

A. mtu

B. duplex

C. network statement
D. default-metric

Answer: A

NEW QUESTION 175

Guidelines This is a lab item in which tasks will be performed on virtual devices.

* Refer to the Tasks tab to view the tasks for this lab item.

« Refer to the Topology tab to access the device console(s) and perform the tasks.

» Console access is available for all required devices by clicking the device icon or using the tab(s) above the console window.
» All necessary preconfigurations have been applied.

* Do not change the enable password or hostname for any device.

» Save your configurations to NVRAM before moving to the next item.

* Click Next at the bottom of the screen to submit this lab and move to the next question.

» When Next is clicked, the lab closes and cannot be reopened. Topology:

EBGP Neighbor Adjacency
ASN: 65515 ASN: 65516

LoO: LoO:
1.1.1.1/32 2.2.2.2/32
2000:cc13:cc13:1::1/128 2000:cc13:cc13:2::1/128

EQ/O EO/O
K | 192.168.1.0/24 1,
2000:cc13:¢cc13:cc13::/48

R1 R2

Tasks

Configure the BGP routing protocol for R1 and R2 according to the topology to achieve these goals:

* 1. Configure EBGP neighbor adjacency for the IPv4 and IPv6 address family between R1 and R2 using Loopback0 IPv4 and IPv6 addresses. All BGP updates
must come from the LoopbackO interface as the source. Do not use IGP routing protocols to complete this task.

* 2. Configure MD5 Authentication for the EBGP adjacency between R1 and R2. The password is clear text C1scO0!.

A. Mastered
B. Not Mastered
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Answer: A

Explanation:

Here is the solution:

Text Description automatically generated
R1:

conft

ip route2.22.2 255.255.255.255 192.168.1.2
ip route 2000:ccl3:cc13:2::1/128 2000:ccl13:ccl3:ccl3::2

router bgp 65515
neighbor 2000:ccl3:¢ccl3:2::1 remote-as 65516
neighbor 2000:ccl13:cc13:2::1 update-sourcelol
neighbor 2000:ccl3:ccl13:2::1 disable-connected-check
neighbor 2000:ccl13:cc13:2::1 ebgp-multihop 2
neighbor 2000:ccl3:cc13:2::1 password Clsc0!.
neighbor 2.2.2.2 remote-as 65516
neighbor 2.2.2.2 update-source lo0
neighbor 2.2.2.2 disable-connected-check
neighbor 2.2 2 2 ebgp-multihop 2

2

address-familv ipv4 unicast
neighbor 2.2.2.2 activate

address-familv ipv6
neighbor 2000:ccl3:¢ccl3:2::1 activate
do copy running-config startup-config

R2:
conft

iproute1.1.1.1 255.255.255.255 192.168.1.1
ip route 2000:ccl3:cc13:1::1/128 2000:cc13:ccl3:ccl3::1

router bgp 65516
neighbor 2000:ccl3:ccl3:
neighbor 2000:ccl3:ccl3:
neighbor 2000:ccl3:ccl3:1::1 disable-connected-check
neighbor 2000:ccl3:¢ccl3:1::1 ebgp-multihop 2
neighbor 2000:ccl3:ccl3:1::1 password Clsc0!.
neighbor 1.1.1.1 remote-as 65515

neighbor 1.1.1.1 update-source lo0

neighbor 1.1.1.1 disable-connected-check

neighbor 1.1.1.1 ebgp-multhop 2

neighbor 1.1.1.1 password Clsc0!.

.1 remote-as 65515
::1 update-sourcelol

[ I = )

address-familv ipv4 unicast

neighbor 1.1.1.1 activate

NEW QUESTION 177

A network administrator must monitor network usage to provide optimal performance to the network end users when the network is under heavy load. The
administrator asked the engineer to install a new server to receive SNMP traps at destination 192.168.1.2. Which configuration must the engineer apply so that all
traps are sent to the new server?

A. snmp-server enable traps entity snmp-server host 192.168.1.2 public
B. snmp-server enable traps bgpsnmp-server host 192.168.1.2 public
C. snmp-server enable traps isdnsnmp-server host 192.168.1.2 public
D. snmp-server enable trapssnmp-server host 192.168.1.2 public

Answer: D
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NEW QUESTION 178
What is the primary role of a BR router in a 6rd environment?

A. It provides connectivity between end devices and the IPv4 network.
B. It embeds the IPv4 address in the 2002::/16 prefix.

C. It connects the CE routers with the IPv6 network.

D. It provides IPv4-in-IPv6 encapsulation

Answer: C

NEW QUESTION 179
Refer to the exhibit:

class-map match-any classl
match-protoceol ipvd
match gos-group 4

A network engineer is implementing QoS services. Which two statements about the QoS-group keyword on Cisco 10S XR 3re true? (Choose two )

A. The QoS group numbering corresponds to priority level

B. QoS group marking occurs on the ingress

C. It marks packets for end to end QoS pokey enforcement across the network
D. QoS group can be used in fabric QoS policy as a match criteria

E. It cannot be used with priority traffic class

Answer: BD

Explanation:

https://www.cisco.com/c/en/us/td/docs/routers/ncs6000/software/ncs6k _r6-1/qos/configuration/guide/b-qos-cg-n Fabric QoS policy class maps are restricted to
matching a subset of these classification options:

precedence dscp

gos-group discard-class

mpls experimental topmost

NEW QUESTION 182

Refer to the exhibit.
— e

GET https://192.168.201.10/api/class/aaaUser. json?
query-target-filter=eq(paaUser.lastName, "CiscoTest")

An engineer configured several network devices to run REST APIs. After testing, the organization plans to use REST APIs throughout the network to manage the
network more efficiently. What is the effect if this script?

A. It returns an AAA users with the last name CiscoTest.

B. It creates a class map named aaauser with traffic tagged from AAA.

C. It queries the local database to find a user named aaaUser.Json

D. It adds the user CiscoTest to the AAA database located at 192.168.201.10.

Answer: A

NEW QUESTION 187

After a possible security breach, the network administrator of an ISP must verify the times that several different users logged into the network. Which command
must the administrator enter to display the login time of each user that activated a session?

A. show netconf-yang sessions detalil

B. show netconf-yang datastores

C. show platform software yang-management process

D. show netconf-yang sessions

Answer: A

Explanation:
https://www.cisco.com/c/en/us/td/docs/ios-xml/ios/prog/configuration/167/b_167_programmability cg/configur
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Device#® show netconf-yang sessions detail

R: Global-lock on running datastore

C: Global-lock on candidate datastore
5: Zlobzl-lock on startup datastors
Number of sessions 1

sesslion—143 19

transport netconf-ssh
NSernams admin
source-host 2001:dkR2::1
login—-tims 2018-10-26T12:37:22+0
1n-rpcs 0
in-bad-rpcs 0
out-rpc-errors 0
out-notifications 0
global-lock None

NEW QUESTION 189
Refer to the exhibit.

An engineer is scripting ACLs to handle traffic on the given network. The engineer must block users on the network between R1 and R2 from leaving the network
through R5. but these users must still be able to access all resources within the administrative domain. How must the engineer implement the ACL configuration?

A. Configure an ACL that permits traffic to any internal address, and apply it to the R5 interfaces to R3 and R4 in the egress direction
B. Configure a permit any ACL on the R1 interface to R2 in the egress direction, and a deny any ACL on the interface in the ingress direction
C. Configure an ACL that permits traffic to all internal networks and denies traffic to any external address, and apply it to the R2 interface to R1 in the ingress

direction.

D. Configure an ACL that denies traffic to any internal address and denies traffic to any external address, and apply it to the R5 interfaces to R3 and R4 in the

ingress direction

Answer: C

NEW QUESTION 193

Which two IS-IS parameters must match before two Level 2 peers can form an adjacency? (Choose two)

A. authentication settings
B. area ID

C. system ID

D. MTU

E. hello timer setting

Answer: AD

NEW QUESTION 195
Refer to the exhibit.

Rl{config)# router isis areal
Rl{config-router)# net 4£9.0001.0000.0000.000b.00

Rl{config=-router)# interface loopback 0

Rl(config-if)# ipvté address 2001:0000:1001:1000::1/128
Rl{config=-if)# exit

Rl{config)# interface Ethernet 1/2

Rl{config-if)# 1pvbt address 200L:0000:1001:100A::1/64
Rl{config=if)# ipvé router isis areal

Rl{config=-if)# exit

A network engineer with an employee id: 3812:12:993 has started to configure router R1 for IS-1S as shown. Which additional configuration must be applied to
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configure the 1S-1S instance to advertise only network prefixes associated to passive interfaces?

R1{configy# router isis areal

R1{config-router)# passive-interface loophack 0
F1{config-router# address-family ipvé
R1{config-router-afj# advertise passive-only

R 1{config-router)# address-family ipve
R1{config-router-af)# advertise passive-only

R1{configp router isis areal

R1{config-router# loopback 0 passive-interface
R1{config-router)# address-family ipvé
R1{config-router-afj# prc-interval 20

R1{configp# router isis areal
R1{config-router)# passive-interface loopback 0

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 197
Refer to the exhibit.

Customers report occasional forwarding issues from hosts connected to R6 to hosts connected to R1. A network engineer has just updated the MPLS
configuration on the network, and a targeted LDP session has been established between R1 and R5. Which additional task must the engineer perform so that the
team can identify the path from R6 to R1 in case the forwarding issues continue?

A. Configure an MPLS TE from R4 to R1 that routes through R5.
B. Implement MPLS OAM within the network.
C. Implement MPLS VPLS within the network.
D. Configure MPLS LDP Sync on each router.

Answer: B

NEW QUESTION 202
Refer to the exhibit:

interface gigabitethernet1/0/1
switchport mode access
switchport access vilan 5
channel-group 1 mode desirable

An engineer is preparing to implement link aggregation configuration. Which statement al about this configuration is true?

A. The switch port actively sends packets to negotiate an EtherChannel using PAgP

B. The switch port accepts LACP and PAgP packets from a connected peer and negotiate an EtherChannel using the common EtherChannel mode.
C. The switch port passively negotiates an EtherChannel if it receives PAgP packets from a connected peer

D. The switch port negotiates an EtherChannel if it receives LACP packets from a connected peer

Answer: A

NEW QUESTION 206
Refer to Exhibit.
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A network engineer is trying to retrieve SNMP MIBs with RESTCONF on the Cisco switch

but fails.

End-to-end routing is in place. Which configuration must the engineer implement on the switch to complete?

A. netconf-yang cisco-ia snamp-community -string Public
B. snmp-server community cisco RW
C. snmp-server community public RO
D. netconf-yang cisco-la snmp-community-string Private

Answer: B

NEW QUESTION 209

A network engineer must enable the helper router to terminate the OSPF graceful restart process if it detects any changes in the LSA. Which command enables

this feature?

A. nsf ietf helper disable

B. nsf cisco enforce global

C. nsf ietf helper strict-Isa-checking
D. nsf Cisco helper disable

Answer: C

NEW QUESTION 210
Refer to the exhibit.

RIS

*Dec @ 08:25:39.347;
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*Dec 8 06:25:40.015: OSPr.

*Dac ® 046:25:40.01%: OsFTF

RIS

*Dac § 06:25:47.207: osrr

*Dac 0 O06:25:40.107: OsPFF

L3

Rrfahow ip ospf nelighbor
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10.10.10.5% 1 FULL/BDR 00:00:39 10.0.0.2¢

190.10.30.2

P ~ 10.0.0.4/30 ~

+]
"y o° 2 3
o L . -
: - .
| (4 | U Ares 100 g Area :
> Ste A STUB ° e

_J w001 9
of

2, .
* - lunnufm~

10.10.10.5 10.10.10.3

osP¥

OEFF: mocv halle from 10.10.10.2 area 0 from GCigabitEthernetl/0 10.0.0.25

Sand hallo to 224.0.0.5 area 100 on FastEtharnatd/0 frem 10.0.0.14
Rev helle from 192 1680 .10.1 area 100 from FastEthernetd/0
Helle frem 10.0.0.13 with mismatched Stub/Transit area optioa bit

Send helle te 224.0.0.5 azea 0 on GCigabitEtharnatl/0 from 10.0.0.26
Send halle to 224 .0.0.5% area 0 on FastEthernatl/0 frem 10.0.0.17

10.0.0.1)

Intarface
Ethearnatd /0

10.10.90.3

10.10.10.4
Lrdfo

172.16.10.2

A network engineer received a complaint about these problems in OSPF stub area 100:
> The Ethernet link is down between routers RX and RY because the fiber was cut.
b’ CE site A traffic to the hub site is being dropped. Which action resolves these issues?

A. Set the OSPF authentication type to MD5 between RX and RY DUMPS
B. Change the OSPF area 100 type to stub on RZ.
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C. Change the OSPF priority to 100 on the interfaces that connect RX and RY.
D. DUMPS Set the OSPF MTU to 1500 on the link between RX and RZ.

Answer: B

NEW QUESTION 214
What is the role of NFVI?

A. domain name service

B. intrusion detection

C. monitor

D. network address translation

Answer: C

NEW QUESTION 215

A network engineer must collect traffic statistics for an internal LAN toward the internet The sample must include the source and destination IP addresses, the
destination ports, the total number of bytes from each flow using a 64-bit counter, and all transport flag information. Because of CPU limits, the flow collector
processes samples that are a maximum of 20 seconds long. Which two configurations must the network engineer apply to the router? (Choose two.)

collect ipv4 tcp protocol
collect ipy4 destination address
collect tcp destination-port
collect application name
collect interface output
collect ipv4 cos

match ipv4 destination
match ipv4 port

match counter packets
match flow direction
match transport tcp-flags

match ipv4 protocol

match ipv4 source address
match ipv4 destination address
match transport destination-port
match interface output

collect ipv4 source mask

collect ipv4 source prefix

collect ipv4 destination prefix
collect ipv4 destination mask
collect transport tcp destination-port
collect counter bytes long
collect flow direction

collect transport tcp flags

collect ipv4 protocol

collect ipv4 source address
collect ipv4 destination address
collect application name

collect interface output

match ipv4 source-prefix

match ipv4 destination-prefix
match counter bytes

match flow direction

match transport tcp-flags

cache-period timer active 20
data export timeout 2

cache timeout active 20
template data timeout 120
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A. Option A
B. Option B
C. Option C
D. Option D
E. Option E

Answer: BE

NEW QUESTION 220

What do Chef and Puppet have in common?

A. use Ruby

B. use a master server

C. require modules to be created from scratch

D. manage agents referred to as minions

Answer: B

NEW QUESTION 224

What is a characteristic of prefix segment identifier?
A. It contains a router to a neighbor

B. It contains the interface address of the device per each link
C. Itis globally unigue.

D. Itis locally unique.

Answer: C

NEW QUESTION 227

Which CLI mode must be used to configure the BGP keychain in Cisco I0OS XR software?

A. global configuration mode

B. routing configuration mode

C. BGP neighbor configuration

D. mode BGP address-family configuration mode

Answer: A

NEW QUESTION 232

Drag and drop the OSs from the left onto the correct deceptions on the right.

105 XR

It Is a monolithic architecture that runs all
modules on one memaory space.

105

it runs over a Linux platform and pulls the system
functions out of the main kernel and into
separate processes.

105 XE

A. Mastered
B. Not Mastered

Answer: A

Explanation:
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105 XR 105
105 105 XE
105 XE 105 XR

NEW QUESTION 237
Which benefit is provided by FRR?

A. It provides fast forwarding path failure detection times for all media.
B. It provides rapid failure detection between forwarding engines.

C. It provides performance data for the service provider network.

D. It protects Cisco MPLS TE LSPs from link and node failures.

Answer: D

NEW QUESTION 239

What causes multicast traffic to permanently stay on the shared tree and not switch to the source tree?
A. The SPT threshold is set to infinity.

B. The RP IP address is configured incorrectly.

C. The RP announcements are being filtered.

D. SSM range is being used.

Answer: C

Explanation:

Network administrators can force traffic to stay on the shared tree by using the Cisco I0S ip pim spt-threshold infinity command

https://www.cisco.com/c/en/us/td/docs/ios/solutions_docs/ip_multicast/White_papers/mcst_ovr.html

NEW QUESTION 242
Refer to the exhibit.

Rl(config)# ipvé unicast-routing
Rl(config)# ipvé router ospf 100
Rl(config-rtr)# router-id 1.1.1.1

An engineer is configuring router R1 for OSPFv3 as shown. Which additional configuration must be performed so that the three active interfaces on the router will
advertise routes and participate in OSPF IPv6 processes?
A)

R1(config)# interface Ethernet1/1
R1(config-if)# ipvé ospf 100 area 0

R1(config)# interface Ethernet1/2
R1(config-if)# ipv6 ospf 100 area 10

R1(config)# interface Ethernet1/3
R1(config-if)# ipv6 ospf 100 area 20

B)
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R1(config)# interface Ethernet1/1
R1(config-if)# ip ospf hello-interval 1
R1(config-if)# ip ospf 1 area 0

R1(config)# interface Ethernet1/2
R1(config-if)# ip ospf hello-interval 1
R1(config-if)# ip ospf 1 area 10

R1(config)# interface Ethernet1/3
R1(config-if)# ip ospf hello-interval 1
R1(config-if)# ip ospf 1 area 20

C)

Riconfig)® imerface Ethermst1
Ri{config-ifi2 ip ospf 1 area 0

Rijconfig)® interface Ethernet/2
R1jconfig-ifj& ip ospf 1 area 10

R1jconfig)e interface Ethernet1/d
Rijconfig-ifj® ip ospf 1 area 20

A.

Answer: A

NEW QUESTION 246
Refer to the exhibit.

CE1#

interface FastEthernet0/0/1

description **¥%* HUOB CE router %%
ip address 10.0.12.1 255.255.255.0
router ospf 100
log=-adjacency-changes

metwork 10.0.12.0 0.0.255.255 area

CE2#

interface SerialQ/0/S

encapsulation ppp

ip address 10.0.12.12 25

i ]
L]

[
o
L
-2
o
(W]
L]

rou
log-adjacency-changes
r

k 10.0.12.0 0.0.255.255 area

=
o
Tt
5,
0

L

description **¥%* SPORKE CE router *%%%

1]
-

A network engineer is configuring customer edge routers to finalize a L2VPN over MPLS deployment Assume that the AToM L2VPN service that connects the two

CEs is configured correctly on the service provider network Which action causes the solution to fail?

A. A loopback with a /32 IP address has not been used
B. OSPF does not work with L2VPN services

C. The xconnect statement has not been defined

D. The routing protocol network types are not compatible

Answer: D

NEW QUESTION 251

The engineering team at a large ISP has been alerted a customer network is experiencing high traffic congestion. After a discussion between the ISP and technical
personnel at the customer site, the team agrees that traffic to the customer network that exceeds a specific threshold will be dropped. Which task must the

engineer perform on the network to implement traffic policing changes?

A. Configure RSVP to reserve bandwidth on all interfaces when a path is congested.

B. Enable Cisco Discovery Protocol on the interface sending the packets.

C. Enable Cisco Express Forwarding on the interfaces sending and receiving the packets.
D. Set IP precedence values to take effect when traffic exceeds a given threshold.

Answer: D

NEW QUESTION 252
Refer to the exhibit.
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R1# show ip bgp summary

Neighbor V AS MsgRcvd MsgSent Tblver InQ OutQ Up/Down State/PfxRcd
11.11.11.11 4 5400 0O 0 0 0 0 never Active
R1

interface Loopback(

ip address 2.2.2.2 255.255.255.25%
interface Ethernetl/0

ip address 11.11.11.11 255.255.255.0
router bgp 5400

neighbor 11.11.11.12 remote-as 5400

neighbor 11.11.11.12 update-source Loopback0
ip route 1.1.1.1 255.255.255.255 11.11.11.12

R2
interface Loopback0
ip address 1.1.1.1 255.255.255.255
interface Ethernetl/0
ip address 11.11.11.12 255.255.255.0
router bgp 5400
neighbor 11.11.11.11 remote-as 5400
neighbor 11.11.11.11 update-source Loopback0
ip route 2.2.2.2 255.255.255.255 11.11.11.11

Router R1 is reporting that its BGP neighbor adjacency to router R2 is down, but its state is Active as shown. Which configuration must be applied to routers R1
and R2 to fix the problem?

A)

R1
router bgp 5400
neighbor 2.2.2.2 remote-as 5400

R2
router bgp 5400
neighbor 1.1.1.1 remote-as 5400

B)

R1
router bgp 5400
neighbor 11.11.11.11 remote-as 5400
neighbor 11.11.11.11 update-source Loopback0

RrR2
router bgp 5400
neighbor 11.11.11.12 remote-as 5400
neighbor 11.11.11.12 update-source Loopback0

C)
R1
router bgp 5400

neighber 1.1.1.1 remote-as 5400
neighbor 1.1.1.1 update-source LoopbackO

R2
router bgp 5400
neighber 2.2.2.2 remote-as 5400
neighbor 2.2.2.2 update-source LoopbackO

D)
R1
router bgp 5400
neighbor 2.2.2.2 remote-as 5400
neighbor 2.2.2.2 update-source LoopbackO

R2
router bgp 5400
neighbor 1.1.1.1 remote-as 5400
neighbor 1.1.1.1 update-source LoopbackO

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 256
A regional MPLS VPN provider operates m two regions and wants to provide MPLS L 3VPN service for a customer with two sites in these separate locations. The
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VPN provider approaches another organization to provide backbone carrier services so that the provider can connect to these two locations.

Which statement about this scenario is true?

A. When edge routers at different regional sites are connected over the global carrier backbone, MP-eBGP must run between the routers to exchange the

customer VPNv4 routes

B. When eBGP is used for label exchange using the send label option, MPLS-BGP forwarding is configured under the global ABC CSC PE-to CE interface
C. When IGP is used for route exchange and LDP for label exchange, MPLS is enabled only on the VRF interface on the backbone-earner PE side.
D. When BGP is used for both route and label exchange, the neighbor a.b.c.d send-lable command is used under the address family VPNv4 command mode.

Answer: B

NEW QUESTION 261
Refer to the exhibits:

failed”.

““Apr 30 14:33:43.619: % CLNS-4-AUTH_FAIL: I151S: LAN lIH authentication

R1#show isis neighbors
Tag TEST:

R2#show isis neighbors

SystemId Typeinterface IP Address
R2 L2 Fa0/0 uUpP

9

Tag TEST:

Systemld Type Interface IP Address
R2 L1 Fa0/0 INIT 22
R2 L2 Fa0/0 UP 24

State Holdtime Circuit Id

R2.01

State Holdtime Circuit Id

R2.01
R2.01

R1 and R2 are directly connected and IS-IS routing has been enabled between R1 and R2 R1 message periodically Based on this output, which statement is true?

A. IS-IS neighbor authentication is failing for Level 2 first and then for Level 1 PDUs
B. 1S-1S neighbor authentication is failing for Level 1 and Level 2 PDUs .

C. IS-IS neighbor authentication is failing for Level 1 PDUs only

D. IS-IS neighbor authentication is failing for Level 2 PDUs only.

Answer: C

NEW QUESTION 265
Simulation 5

OSPF Process ID 10

Area 0

172.16.00/24

R1
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——

A. Mastered
B. Not Mastered

Answer: A

Explanation:

R1

router ospf 10 redistribute static int et0/0

ip ospf hello-interval 5 ip ospf dead-interval 10 ip ospf cost 15
ip ospf 10 area 0 copy run start R2

router ospf 10 redistribute static

int et0/0

ip ospf hello-interval 5 ip ospf dead-interval 10 ip ospf cost 15
ip ospf 10 area O copy run start

NEW QUESTION 268
Which two actions describe ISP delegation to PCE servers? (Choose two)

A. adding a new PCE server with lower precedence than the primary PCE
B. changing the precedence of any of the PCE servers

C. removing TE re-optimization timer timeouts

D. entering the mpils traffic-eng reoptimize command

E. adding a new PCE server with higher precedence than the primary PCE

Answer: AC

NEW QUESTION 270
Drag and drop the functions from the left onto the Path Computation Element Protocol roles on the right.

Path C utation Element
calculates paths through the network it
keeps TE topology database information
sends path calculation request
sends path creation request
Path Computation Client
sends path status updates
A. Mastered

B. Not Mastered
Answer: A

Explanation:
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PCE-1,25
PCC-3,4

NEW QUESTION 274
Refer to the exhibit.

OZPF 100 w OSPF 100

Mea  ITLITIERD A TLAT 2551 Aiwa 0 L

S &= S

100 65 0 &30 -

YPH-RR#show bgp vpnyd un all 0.0.0.0
BLP routing tabla sntry for 43010:1:0.0.0.000, waraics 14
Paths: (1 svailable, beat #1, oo tabls]
Atvartised to updsta-groups:
1
Rafrash Epach 1 !
Local, (Received {rom s RR-cliant)
172.17.2%5.1 imamtric 2] (via defauclt] from .73 27_39%8 8 [(TF.07.385.1)
Origin incomplete, metric 1, localprel 100, walid. internal. best
Community: &5010:1
Extendsd Community: RET:S3010: 100200
OSFF DOMATH ID:0x0003%: 0n000000640300¢ DSFF ET:0. 0. 0.0:5:1
OSPF RRITER IP:100.%63.0.1:0
mpla labals insout nolabmls 13
rz pathid: 0, tx pathid: Oz

The network engineer who manages ASN 65010 is provisioning a customer VRF hamed CUSTOMER-ABC on PE-2. The PE-CE routing protocol is OSPF Internet
reachability is available via the OSPF 0 0 0.0/0 route advertised by CE-1 to PE-1 In the customer VRF Which configuration must the network engineer Implement

on PE-2 so that CE-2 has connectivity to the Internet?
A)

vif definition CUSTOMER-ABC
rd 65010:1

address-family ipv4
route-target both 65010:1

i

router ospf 100 vif CUSTOMER-ABC
network 100.65.0.4 0.0.0.3 area 0

redistribute bgp 65010 subnets
defaull-information originate
L]

router bgp 65010
address-family ipv4 unicast vif CUSTOMER-ABC
redistribute ospf 100 match internal external

B)

vif definition CUSTOMER-ABC

rd 65010:2

address-family ipvd

route-target both 65010:100200

)

router ospf 100 vit CUSTOMER-ABC
network 100.65.0.4 0.0.0.3 area 0
redistribute bgp 65010 subnets

]

router bgp 65010
address-family ipv4 unicast vif CUSTOMER-ABC
redistribute ospf 100 match internal external

C)
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vrf definition CUSTOMER-ABC

rd 65010:1

address-family Ipv4

route-target both 65010:100200

L)

router ospfl 100 vif CUSTOMER-ABC
network 100.65.0.4 0.0.0.3 area 0

redistribute bgp 65010 subnets
default-information originate

L]

router bgp 65010

address-family ipv4 unicast vif CUSTOMER-AEBC
redistribute ospf 100 match internal external

D)

viT definition CUSTOMER-ABC
rd 65010:2

address-family ipv4
route-target both 65010:1

]

router ospf 100 vif CUSTOMER-ABC
network 100.65.0.4 0.0.0.3 area 0
redistribute bgp 65010 subnets

]

router bgp 65010

address-family ipv4 unicast vift CUSTOMER-AEBC
redistribute ospf 100 match internal external

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 279
After a series of unexpected device failures on the network. a Cisco engineer is deploying NSF on the network devices so that packets continue to be forwarded

during switchovers The network devices reside in the same holding, but they are physically separated into two different data centers Which task must the engineer
perform as part of the deployment?

A. implement OSPF to maintain the link-state database during failover.

B. implement VRFs and specify the forwarding instances that must remain active during failover.

C. implement an L2VPN with the failover peer to share state Information between the active and standby devices.
D. implement Cisco Express Forwarding to provide forwarding during failover

Answer: B

NEW QUESTION 280
Refer to the exhibit.

line vy O 4
access-class 100 in
transport input ssh
legin local

lina vy 5 15
access-class 100 in
transport input ssh
legin local

An engineer has started to configure a router for secure remote access as shown. All users who require network access need to be authenticated by the SSH
Protocol.Which two actions must the engineer implement to complete the SSH configuration? (Choose two.)

A. Configure an IP domain name.

B. Configure service password encryption.

C. Configure crypto keys

D. Configure ACL 100 to permit access to port 22.
E. Configure a password under the vty lines.

Answer: AC

NEW QUESTION 285
Refer to the exhibit.
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Control Plane Interface

Service policy CoPP-normal

Hardware Counters:

class-map: CoPP-normal (match-all)

Match: access-group 100

police :

6000 bps 1000 limit 1000 extended limit

Earl in slot 3 :

0 bytes

5 minute offered rate 0 bps
aggregate-forwarded O bytes action: transmit
exceaded 0 bytes action: drop
aggregate-forward 0 bps exceed 0 bps

Earl in slot 5

0 bytes

5 minute offered rate 0 bps
aggregate-forwarded 0 bytes action: transmit
exceeded 0 bytes action: drop
aggregate-forward 0 bps exceed 0 bps

Which show command shows statistics for the control plane policy and is used to troubleshoot?

A. show control-plane CoPP

B. show control-plane

C. show policy-map control-plane
D. show policy control-plane

Answer: C

Explanation:

Bouter# show policy-map control-plane

=

Control Flane

o = — o

AL L .

2000 bos. 1500 limit. 1500
_____ ps, 1300 limit, 1300
i - ] TE s+am~lr=ts [ b i
conformed 15 packets, ©2l10
exceeded 5 packetsz, 5070 kb
T o= = 4 |7 A L " e+
viclated 0 packestsz, 0 kbyvtes
1 - 1
conformed 0 bps, exceed 0 kb

NEW QUESTION 287

bytes; action:transmit
ces; action:drop

; acticn:idrop

s, viclate O Lbps

A router is advertising multiple networks to its BGP neighbor in AS 5200 with peer IP address 1.1.1.1. Which configuration must be applied so that the router

permits updates only for networks with a prefix mask length less than or equal to 217
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router bgp 5100
neighbor 1.1.1.1 remote-as 5200
neighbor 1.1.1.1 prefix-list SELECTED in

ip prefix-list SELECTED seq 10 permit 0.0.0.0/0 le 21

router bgp 5100
neighbor 1.1.1.1 remote-as 5200
neighbor 1.1.1.1 prefix-list SELECTED

Ip prefix-list SELECTED seq 10 permit 0.0.0.0/0 ge 8 le 24

router bgp 5100
neighbor 1.1.1.1 remote-as 5200
nelghbor 1.1.1.1 prefix-list SELECTED

Ip prefix-list SELECTED seq 10 permit 0.0.0.0/0 ge 21

router bgp 5100
neighbor 1.1.1.1 remote-as 5200
neighbor 1.1.1.1 prefix-list SELECTED in

ip prefix-list SELECTED seq 10 permit 0.0.0.0/0 ge 21 I 24

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 292
Refer to the exhibit.

If RC is a stub router, which entry must be injected so that it will send traffic outside the OSPF domain?
A. virtual link between RB and RC

B. sham link

C. more specific route

D. default route

Answer: C

NEW QUESTION 294
Refer to the exhibit:
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Sender

Receiver

If router A is the RP, which PIM mode can you configure so that devices will send multicast traffic toward the RP?

A. PIM-SM
B. Pl MM-DM
C. BIDIR-PIM
D. PIM-SSM

Answer: C

NEW QUESTION 297
Refer to the exhibit.

user: community1

Notification host: 192.168.101.1 udp-port: 162 type: trap
security model: v1

Over the last few months. ISP A has doubled Its user base. The IT Director asked the engineering team to monitor memory consumption and buffer statistics on all
P and PE devices In the MPLS core. Most devices have CPU usage of 70% or more, so the solution must be targeted and secure. Which two commands must the
engineering team implement on P and PE devices to meet these requirements? (Choose two.)

A. snmp-server host 192.168.101.1 version 3 auth communityl memory
B. snmp-server enable traps memory bufferpeak

C. snmp-server host 192.168.101.1 version 2c communityl memory

D. snmp-server host 192.168.101.1 version 1 communityl auth memory
E. snmp-server enable snmp-traps communityl bufferpeak

Answer: AB

NEW QUESTION 299

While implementing TTL security, you issue the PE(config-router-af)#neighbor 2.2.2.2 ttl-security hops 2 command.

After you issue this command, which BGP packets does the PE accept?

A. from 2.2.2.2, with a TTL ol 253 Of more
B. from 2.2.2.2, with a TTL of less than 2
C.t02.2.2.2, with a TTL of less than 253

D.to 2.2.2.2, witha TTL of 2

Answer: A

NEW QUESTION 301

or more

Drag and drop the multicast concepts from the left onto the correct descriptions on the right.

IGMP multicast routing protocol that floods traffic to all peers
PIM-DM technology that manages the process of joining and leaving
Rt multicast Qroups
PIM-SM technology that requires an RP

chared free

SOurce tree

technology that uses the RP as the single common root

shortest-path tree
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A. Mastered
B. Not Mastered

Answer: A
Explanation:

1: PIM-DM 2:IGMP 3:PIM-SM 3:shared tree 4:source tree

NEW QUESTION 303

Refer to the exhibit.
192 16800724

A1 A3

routar lais
mat %27.0011.0000.0000. 0001 .00

routar isis
et %2.0027.0000.0000.0003.00

interface gigabitethernetd/1
ip addreas 197 . 168.0.1
255 . 255 .255%.0
ip router lsis

interface gigabitetherneatd/1
ip addreas 15%2.168.0.3
25%.355.295.0
ip rovter lais

A2 4
router isis
nat 52.000 2 .0000.0000.0002 .00

Foutar 1s)s
ret 52.0011.0000.0000.0004.00

interface gigabitethernetd/]
ip address 192.188.0.2
255.255.255%.0
ip routar isims

intearface gigabitethernetd/]
ip address 1%2.148.0.4
255.255.255.0
ip router isis

L ]
Which two topology changes happen to the IS-IS routers? (Choose two.)

A. All four routers are operating as Level 1 routers only.
B. All four routers are operating as Level 2 routers only.
C. R1 and R4 are Level 2 neighbours.

D. R1 and R2 are Level 2 neighbours.

E. All four routers are operating as Level 1-2 routers.

Answer: DE

NEW QUESTION 306
Refer to the exhibit.
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A network support engineer for ASN 65502 receives a technical support ticket from a customer in ASN 65503 who reports that an eBGP session is down. The
engineer determines that the peering failed after a recent change to the device at 192.168.26.2. EDGE-GW-1 must establish an eBGP session with the peering

router 192.168.26.2. Which configuration establishes this session?
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A. configure terminalno router bgp 65502 router bgp 65503neighbor 192.168.26.2 remote-as 65503 address-family ipv4neighbor 192.168.26.2 activate end
B. configure terminal router bgp 65502 address-family ipv4neighbor 192.168.26.2 activate end

C. configure terminal no router bgp 65502 router bgp 65503neighbor 192.168.26.2 remote-as 65123 address-family ipv4neighbor 192.168.26.2 activate end
D. configure terminal router bgp 65502n0 neighbor 192.168.26.2 remote-as 65503neighbor 192.168.26.2 remote-as 65123 address-family ipv4neighbor
192.168.26.2 activateend

Answer: B

NEW QUESTION 309
Which control plane protocol is used between Cisco SD-WAN routers and vSmart controllers?

A. OTCP
B. OMP
C. UDP
D. BGP

Answer: B

NEW QUESTION 314
Refer to the exhibit.

Houter 1 ]|lehslul|l£-4 Router 2
Gig 0/0 :._.If
2 i']‘r.
LoO-11.10.11.11/32 lo0=-223.22.22.23f1}

Router 1 and router 2 are running OSPF Area 0. The router logs on both routers show that the LDP link has flapped. Which configuration must the engineer apply
to the two routers to implement session protection on the link?

Rowter 1|config|@ip cef distribuied
Rowler 1{confgll mpls Idp session profection ghobal

Rawter 2|config|@ip oef distributed
Rowter 2|config)e mpls Idp session profection global

Rauier 1|configd ip cel distribuied

Rowtler 1|configl® imerface gigabdtethernat 0

Router 1|config-f)e ip addrass 192.968.1.1 255.255.255.0
Rowter 1{config® mpls idp session profection

Rowler 2|config|& interface gigabilethernst 0
Router 2|config-f)e ip sddrass 102.968.1.2 235.255.255.0
Raiter 2|config mpls Idp session profection

Rauter 1(configh ip cef distributed

Router 1(conligh interface gigabitethernet 0/0

Rauter 1(config-if)2 ip address 192, 168.1.1 255.255,255.255
Rauter 1[(config-if)2 exit

Router 1(configl¥ mpls Idp session protection

Router 2{config)d ip cef distributed

Router 2{config)d interface glgabltathernet 0/0

Router 2{config-if}e ip address 192.168.1.2 255.255.255.255
Router 2{config-il)2 exit

Rauter 2(config)# mpls Idp session protection

Router 1{configh ip cef distributed

Router 1(conflig)¥ interface gigabitethernet 00

Router 1(config-if)# ip address 192.168.1.1 255.255.255.0
Rauter 1(config-if)2 mpls label protacol Idp

Reuter 1{config-il}# mpls ip

Router 1(config-if)# exit

Router 1(configh mpls Idp session protection

Router 2{confligh¥ ip cefl distributed

Router 2{config)# interface gigabitethernet 0/0

Router 2(config-if)# ip address 192.168.1.2 255.255.255.0
Router 2{config-if)g mpis label protocol ldp

Router 2{config-if)2 mpls ip

Router 2{conlig-iNg exit

Router 2(configh¥ mpls Idp session protection

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 319

In an MPLS network, which protocol can be used to distribute a Segment Prefix?
A. OSPF

B. LDP

C. RSVP-TE

D. EIGRP

Answer: A

NEW QUESTION 324
Why is the keyword none needed when implementing management plane security using TACACS?
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A. It altovSWMB6ter to query a RADIUS server when the TACACS+ server is unreachable.
B. It allows the local database to authenticate when the TACACS” server is unreachable.
C. It allows authentication to succeed when the TACACS+ server is unreachable.

D. It prevents all users from accessing router 1 unless the TACACS+ server is reachable,

Answer: C

NEW QUESTION 326
Refer to the exhibit:

RP/@/0/CPUG:routerd show bgp neighbors 192.168.2.2

BGP neighbor is 192.168.2.2, remote AS 1, local AS 148, external link
Remote router ID 9.8.8.8

BGP state Idle

Last read @9:00:00, hold time is 188, keepalive interval is 68 seconds
a in queue

Received @ messapes, @ notifications,

sent @ messages, @ notifications, @ in queue

Minimigm time between advertisement runs 1s 15 seconds

For Address Family: IPv4d Unicast

BGP -"Il."'ll‘,l'-!'l'-r‘ version 2

Update group: 8.1

eBGP neighbor with no inbound or outbound policy; de
Route retresh request: recelved @, sent @

@ accepted prefixes

Prefix advertlsed @, suppressed @, withdrawn @, maximum limit 524288

faults to

Threshold for wWwarnlng message 75&

Connections established @; dropped @
Last reset 90:02:23, due to BGP neighbor initialized
External BGP neighbor not directly connected.

Based on the show/ command output, which result m true after BGP session is established?

A. The 10S XR router advertises all routes to the neighbor 192.168.2.2, but it does not accept any routes from 192.168.2.2
B. The I0S XR router advertises and accepts all routes to and from eBGP neighbor 192.168.2.2

C. No routes are accepted from the neighbor 192.168.2.2, nor are any routes advertised to it

D. The 10S XR router does not advertise any routes to the neighbor 192.168.2.2,but it accepts all routes from 192.168.2.2.

Answer: B

NEW QUESTION 329
Refer to the exhibit.

POST http://192.168.1.1 api/changeSelfPassword.json

{

"aaaChangePassword" : {
"attributes” :
"userName" : “ciscotest”,
"oldPassword" : "s@nfr@ncisc0”,
"newPassword" : "s@nfr@nc1sco”

What is the purpose of this JSON script?
A. It changes the existing password.

B. It updates a user authentication record.
C. It deletes a user’s authentication record.
D. It confirms a user’s login credentials.
Answer: A

NEW QUESTION 333
Drag and drop the functionalities from the left onto the target fields on the right.
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MAP-T

Can translate RFC1918 IPv4 to Public IPv4

NAT 64

Can be Stateless or stateful

NAT 44

Provides reachability of IPvG host over IPv4
domains

DS Lite

Provides reachability of IPv4 host over IPv6
domains

6RD

Requires IPv6 access network.

A. Mastered
B. Not Mastered

Answer: A

Explanation:

MAP-T

NAT 44

NAT 64

NAT 64

NAT 44

B6RD

DS Lite

DS Lite

6RD

MAP-T

NEW QUESTION 334

You are writing an RPL script to accept routes only from certain autonomous systems Consider this code.

RP/0/RPO/CPUO:router(config-rpl)# if as-path in (ios-regex ."77%’)

RP/O/RPO/CPUO:router(config-rpl-if)# pass
RP/O/RPO/CPUO: router(config-rpl-ifj# endif

If you apply this code to BGP filters, which effect does the code have on your router?

A. denies routes from AS 7070
B. allows routes from AS 7077
C. denies routes from AS 7007
D. allows routes from AS 770

Answer: B

NEW QUESTION 338
Refer to the exhibit.
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G @ ASH BN
0G4 12N 1006410730

PE-ROabew pan nterface GlgabitEthesrat]l 70
Buiiding configquration
Curcant configuration @ 133 byt
interfase Gigabiedthareatl 177
sheapsulation dtlg M
Ip addrass 100.64.1.0 29%.2%3. 1%5.1%2
ip accens-qroup INTRA-ACL ot
nd

PE-ROabov accuna-Liat INPRA=MCL

Extended 1P access 100t [NFRA-ACL
10 permit tep I92.160.0.0 0.0.255.23% 100.60.0.0 0.0.293.133 »] talnat
20 permit Lesp any 100.64.0.0 031,245,299 ache
3 peralt besp any 100 64.0.0 0.0, 205.2%) eche-raply
40 parmit odp bost 172.29.100.2 100.64.0.0 0. 30,295,145 o snap
0 peralt cdp best 100 20.200.2 100.64.0.0 0300 235.28% o] anp
60 peralt tep 192 16000 0.0.24%.23% range ftp-data £Rp 1006400 0.31.255.7%5 aatablished
1 permit tep 162 140.0.0 00,035,095 eq &2 100.64.0.0 000, 135,193 entabiished
B0 permit tep 172.16.0.0 0.0.0.255 oq 22 100.§4.0.0 0.20.255. 243 astablisked
100 dany lp any any

To protect in-band management access to CPE-R7, an engineer wants to allow only SSH management and provisioning traffic from management network
192.168.0.0/16. Which infrastructure ACL change must be applied to router PE-R9 to complete this task?
A)

Ip access-list extended INFRA-ACL

15 permit tep 192.168.0.0 0.0.255.255 range 49152 65535 100.64.0.0 0.31.255.255 eq 44

B)

Ip access-(ist extended INFRA-ACL

no 10

13 pormit tep 192.168.0.0 0.0.253.255 6q 22 100.64.0.0 0.31.235.255 e 22

C)

Ip access-list extended INFRA-ACL
15 permit tep 192.168.0.0 0.0.255.255 range 49152 65335 100.64.0.00.31.285.255 eq 22

D)

ip access-list extended INFRA-ACL

no 10

13 permit top 192.168.0.00.0.255.255 range 49152 65535 100.64.0.00.31.255.055 eq 12

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

NEW QUESTION 339

What is a feature of mVPN?

A. It requires-uncast to be disabled on the multicast domain

B. It establishes multiple static MDTs for each multicast domain.

C. It provides the ability to support multicast over a Layer 3 VPN.

D. It requires the no ip mroute-cache command to be configured on the loopback interface of each BGP peer
Answer: C

NEW QUESTION 340

Which statement describes the advantage of a Multi-Layer control plane?

A. It automatically provisions monitors, and manages traffic across Layer 0 to Layer 3
B. It minimizes human error configuring converged networks

C. It supports dynamic wavelength restoration in Layer 0

D. It provides multivendor configuration capabilities for Layer 3 to Layer 1

Answer: C

NEW QUESTION 345
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Drag and drop the characteristics from the left onto the automation tool on the right.
Answer Area

It is the standard transport protocol for NETCONF
communicating with network devices.

Itis a standard data modeling language.

It retrieves operational data.

It develops data models.

It shapes state data.

It sets and reads configuration data.

A. Mastered
B. Not Mastered

Answer: A

Explanation:
Answer Area

It is the standard transport protocol for NETCONF
communicaﬁng with network devices.

It is a standard data modeling language.

It is a standard data modeling language.

It retrieves operational data.

It retrieves operational data.

It sets and reads configuration data.

It develops data models.

It shapes state data.

It sets and reads configuration data.

NEW QUESTION 348
Refer to the exhibit.

interface gigabitethernet 0/2
no ip directed-broadcast

Which type of DDoS attack will be mitigated by this configuration?

A. SYN flood

B. smurf attack

C. SIP INVITE flood attacks
D. teardrop attack

Answer: B

NEW QUESTION 350

How does an untrusted interface at the boundary of an administrative domain handle incoming packets?
A. It remarks all values to a CoS of 0.

B. It forwards only traffic with a DSCP value of 48.

C. It translates the IP precedence value to the corresponding DSCP value.

D. It drops all traffic ingressing the network.

Answer: A
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NEW QUESTION 352
Refer to the exhibit.

Hifahow run | & Touter oapf
routear ospf 1
router-id 172.16.0.3
network 192 168.0.0 O 0. 63.25% aresa 0

ASPshow run LAt GigabitEthernstl L]
Building configuration
current configuration 245 bytes
itnterface Gigabitkthesrnet.l 58
deascription LINK TO K@ Gil 2A
ancapsulation dotlQ =8
ip address 192 168.358 3 2%% . 2%% 255 0
ip mtu 1600
ip ospf network point-to-polnt
ip ospf 1 area 0.0.0 2
wridl

Which configuration must be implemented on router R8 so that it will establish OSPF adjacency with R5?
A)

router ospf 1 .
network 192 168.58.00.0.0.2565 area 0.0.0.2
interface GigabitEthemet 1.58

Ip mtu 1600

Ip osp! network point-to-multipoint

B)

router ospf 1

network 192.168.58.00 0 0.2565 area 2
interface GigabitEthernet 1.58

ip mtu 1600

C)

router ospf 1

network 192 168 58 00.00258 area 00 C 2
Interface GigabitEthernet 1.58

ip ospl network point-to-point

D)

router cspf |

network 192.166.58.0 0.0.0.255 area 00 0.2
interface GigabitEthernet 1,58

ip mtu 1600

ip ospf network point-to-point
o ospf 1 area O

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 356

An engineer is implementing a router redistribution within BGP. The route map must be configured to permit all unmatched routes. Which action must the engineer
perform to complete this task?

inCiude a parmit statement a5 the first entry
Inciude af least gne sxpiicih deny statement
Remove the i/mphcit deny gntry

Include a permit slatement a8 the las) antry

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D
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NEW QUESTION 360
Refer to the exhibit.

Customer DC

CE-R2

Customer network Application Server
- L
- - ™
AP CE-R1 PE-R2
=

Remote User

The application server in the data center hosts voice, video, and data applications over the internet. The data applications run more slowly than the voice and video
applications. To ensure that all applications run smoothly, the service provider decided to implement a QoS policy on router PER 2 to apply traffic shaping. Which

two actions must an engineer take to implement the task? (Choose two.)

A. Configure the scheduling function to handle delayed packets.
B. Enable packet remarking for priority traffic.

C. Configure a queue to buffer excess traffic.

D. Set the token value for secondary traffic.

E. Set a threshold to discard excess traffic.

Answer: AC

NEW QUESTION 365
Why do Cisco MPLS TE tunnels require a link-state routing protocol?

A. Link-state routing protocols use SPF calculations that the tunnel endpoints leverage to implement the tunnel

B. The link-state database provides a data repository from which the tunnel endpoints can dynamically select a source ID
C. The tunnel endpoints can use the link-state database to evaluate the entire topology and determine the best path

D. The link state database provides segmentation by area, which improves the path-selection process

Answer: C

NEW QUESTION 367

What Is the primary role of Ansible In a network?

A. Itis used as a debugging tool for connectivity issues between the DMZ and an enterprise intranet.
B. It Is used to diagnose Layer 11ssues In data centers that span more than one city block.

C. Itis used to deploy IPv6 configuration is networks That are dual slack.

D. It is used as a network automation provisioning and configuration tool.

Answer: D

NEW QUESTION 368
Refer to the exhibit.

Passing Certification Exams Made Easy

visit - https://lwww.2PassEasy.com



Welcome to download the Newest 2passeasy 350-501 dumps
@ 2 PQSS@QSU https://lwww.2passeasy.com/dumps/350-501/ (370 New Questions)

//f” —r IS-IS
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An engineer with an employee 10:4350:47:853 is implementing IS-IS as the new routing protocol in the network. All routers in the network operate as Level 2
routers in the same private autonomous system, and the three branches are connected via dark fibre. The engineer has already implemented IS-IS on router R1
with NET address 49.0133.532b.cal14.6915.21311.F40F.1B3a.bal0.00. Which IS-IS NET address configuration must be implemented on R3 to establish I1S-IS
connectivity?

A. 49.0133.532h.cal4.6915.21311.f40f.1b4a.bb87.00
B. 49.0135.332b.cal4.6975.28371.1721.1b3b.call.10
C. 48.0133.532h.ca14.6915.21311.f40f.1626.bb98.00
D. 49.0133.532b.cal4.6915.21311.1721.1b4a.0013.01

Answer: A

Explanation:

IS-1S uses NET addresses to identify each router in the network, and the NET address of each router must be unique. In order for I1S-IS to establish connectivity
between R1 and R3, the NET address of R3 must be different from the NET address of R1, but it must also follow the same structure. In this case, the NET
address of R1 is 49.0133.532b.cal4.6915.21311.F40F.1B3a.hal0.00, so the NET address of R3 must be 49.0133.532b.cal14.6915.21311.F40F.1B4a.bb87.00.

NEW QUESTION 369
Refer to the exhibit.

/t;fﬁce A Office B

M,

The link between Office A and Office B is running at 90% load, and occasionally the CPU on router R1 is overloaded. The company implemented QoS for business-
critical applications at both offices as a temporary solution. A network engineer must update the R1 configuration to 600 ms to reduce CPU load and limit downtime
after connection failure to avoid data loss. Which action meets this requirement?

A. Configure the fast-hello feature for OSPF with the command ip ospf dead-interval minimal hello-multiplier 3.
B. Configure BFD demand mode with the command bfd-demand timer 150 interval 250 retransmit 5.

C. Configure BFD non-echo mode with the command echo interval 250 minimal 300 echo-multiplier 2.

D. Configure BFD echo mode with the command bfd interval 150 min_rx 200 multiplier 3.

Answer: D

NEW QUESTION 374
Refer to the exhibit:
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mpls label protocol
mpls ldp router-id

ldp
lcopback 0

mpls 1p
\p cer

A network operator working for service provider with an employee id 3715 15:021 applied this configuration to a router.

Which additional step should the engineer use to enable LDP?

A. Disable Cisco Express Forwarding globally

B. Delete the static router ID

C. Enable MPLS LDP on the interface

D. Configure the both keyword to enable LDP globally

Answer: C

NEW QUESTION 377
Refer to the exhibit.

Area l Area 0

EIGRP is running between routers R5 and R1, and OSPF is used in the rest of the network. Users in a network attached to router R3 need to access a server
connected to R5. Which task must the engineer perform so that only the users attached to R3 are able to access the server, but no other network is shared to

OSPF?

A. Configure redistribution using route maps to filter the routes that are shared

B. Configure redistribution using an offset list to filter the routes that are shared.

C. Configure an OSPF virtual link between R1 and R3 to route traffic between the two areas.
D. Configure R1 as a stub router for EIGRP and OSPF so that only the default route is shared
Answer: A

NEW QUESTION 382
Refer to the exhibit.
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router bgp 200

FEL® address-family vponvd unicaat
route-policy pass-all retain route-target route-policy policyl
Fasse neighbor 10.10.10.3
end-policy remote-as 200
! update-scurce Loopback(
interfacs TenOigE 0/1/0 address-family vpavd unicast
vrf vpaABC '
ipvd address 10.10.10.2 255.0.0.0 neighber 10.10.10.1

[}

intarface TenGigE 1/0/0

remote-as 100
address-family ipvd unicast

ipvd address 10.10.10.1 255.0.0.0 As-overridas
! routs-policy pass-ail in
router ospf 20 routs-policy pasa-all out
area 200 i
intarface loopbackl advertiseseant-interval 3

interface TenGigE 1/0/0 i
L}

A service provider engineer Is configuring the connection between CE1 and CE2. AS 200 of the service provider and AS 100 of enterprise ABC should connect
using BGP. The engineer already completed the configuration of VRF RT 100:10 of enterprise ABC. Which configuration must the engineer apply on PE1 to meet
the requirement?

vrf vpn1
rd 100:1

address-family vpnv4 unicast
redistribute connected

vrf vpn1

rd 100:1

address-family ipv4 unicast
redistribute connected

router bgp 200

neighbor 10.10.10.1
remote-as 100
address-family vpnv4 unicast

router bgp 200
address-family ipv4 unicast
neighbor 10.10.10.3

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

NEW QUESTION 385

The network-engineering team of a service provider is integrating several recently acquired networks into a more scalable common Unified MPLS architecture. The
new network architecture will support end-to-end VPNv4 and VPNv6 services with these requirements:

» The IGP of the core layer is IS-IS In Area 0.

» The IGP of the aggregation layers is OSPF in Area 0.

» The LDP protocol Is used to distribute label bindings within each IGP domain.

Which task must the network engineer perform when implementing this new architecture?

A. Configure BGP-LU between ABR routers of each IGP domain to carry MPLS label information in NLRI.

B. Configure a BGP session between the ABR routers of each IGP domain to exchange VPNv4 or VPNv6 prefixes

C. Configure the ABR in each IGP domain to preserve next-hop information on all VPNv4 and VPNv6 prefixes advertised by the PE.
D. Configure mutual redistribution of each IGP domain's loopback prefix to provide end-to-end LDP LSP

Answer: A

NEW QUESTION 390
Refer to the exhibit.
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Eth 1/0

Application Server

192.168.20.4 172.16.20.5
Flow Analyzer Flow Collector
.
Eth 2/1

Rlm
flow exporter EXPORTER-10
destination 172.16.20.5

export-protocol ipfix
transport udp 90
exit

!

flow monitor FLOW-MONITOR-10
record netflow ipvd original-input
exporter EXPORTER-10

!

ip cef

|

interface Ethernet 1/0
ip address 172.16.10.2 255.255.255.0

A network engineer wants to monitor traffic from the application server and send the output to the external monitoring device at 172.16.20.5. Application server
traffic should pass through the R1 Eth2/1 interface for further analysis after it is monitored. Which configuration must be applied on the R1 router?

A. Configure the FLOW-MONITOR-20 command.

B. Configure the flow exporter EXPORTER-10 destination 192.168.20.4 command.
C. Configure the ip flow monitor FLOW-MONITOR-10 input command on the Ethernetl1/0 interface.
D. Configure the ip flow monitor FLOW-MONITOR-10 output command on the Ethernet 2/1 interface.

Answer: C

NEW QUESTION 391
Refer to the exhibit.

Ri# configure terminal

RZ(config)# interface Ethernetl/0
RZ(config-if)¥ ip address 10.1.1.1 255.255.255.255

An engineer is configuring two routers to support MPLS LDP sessions between them. The R1 configuration is complete, and work has started on R2 as shown.
Which additional configuration must the engineer apply to R2 to complete the task?

R2({config)# mpls label protocol Idp

R2{config)# interface Ethernet1/0

R2(config-if)# mpls bgp forwarding

R2(config)# mpls label protocol ldp

R2({config)# interface Ethernet1/1

R2(config-if)# ip vrf forwarding CISCO
R2{config-if)#ip ospf network point-to-point

R2(config)# mpls ip

R2(config)# mpls label protocol Idp

R2{config)# interface Ethernet1/0
R2(config-if)# mpls ip

R2(config)# mpls label protocol ldp

R2({config)# interface Ethernet1/0

R2(config-if)# ip vrf forwarding CISCO

R2({config-if}# ip ospf 1 area 0

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 393
Refer to the exhibit:
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R1:

interface FastEthernet0/0

ip address 10.1.12.1 255.255.255.0
duplex full

end

!

!

!

R1(config)#interface FastEthernet0/0
R1(config-ifj#ospfv3 1 area 1 ipvd
% IPv6 routing not enabled

A network engineer is implementing an OSPF configuration Based on the output, which statement is true?

A. In the ospfv3 1 area 1 ipv4 command, area 0 must be configured instead of area 1.

B. OSPFv3 does not run for IPv4 on FastEthemet0/0 until IPv6 routing is enabled on the router and IPv6 isenabled on interface Fastfc.thernet0/0

C. OSPFv3 cannot be configured for IPv4; OSPFv3 works only for IPv6.

D. IPv6 routing not enabled" is just an informational message and OSPFv3 runs for IPv4 on interface FastEthernet0/0 anyway

Answer: B

NEW QUESTION 395
Refer to the exhibit.

10.10.10.2 10.10.10.3
S Proewnder 1.‘3
“l:ﬂ

e > E
s ® L
10,10 10.4

E .ﬁ OSPF “neg

Backbone

¥/
192.168.1.1 1090161 "ao
: -
“o - ot
10.10.10.%
Area® 10.10.10.8

Area F0

- & »

RL#
router ocapf 10

BME

0
leg-adjacency-changes Touter oept 4

natwork 10.0.0.0 0.0.0.3 area 0 ASE=RJACARAY-ChaRgas

network 10.0.0.12 0.0.0.3 area 0 :':'“’: ::'g'g'giuéuﬂunaa‘:".au
network 10.10.10.1 0.0.0.0 area 0 coeg s ik : il cns

1 network 10.10.10.2 0.0.0.0 area 0O
route-map ospf-default-route permit 10 network 10.0.0.4 0.0.0.3 area 0
match ip address 10

set matric 2

set matric-type type-2

acceassa-list 10 parmit 192.168.1.1 0.0.0.0

The operations team for a service provider network is implementing a route map policy. OSPF area 0 should originate the default route with a type 2 metric of 2
when the application server on the connected interface (192.168.1.1) is up. Routers RL and RM have set up OSPF peering with other adjacent routers. Which

action meets this requirement?

A. Apply default-information originate route-map ospf-default-route on router RL.
B. Configure distribute-list route-map ospf-default-route out on router RM.
C. Configure distribute-list route-map ospf-default-route out on router RL.
D. Apply default-information originate route-map ospf-default-route on router RM.

Answer: D

NEW QUESTION 397
Refer to the exhibit.

Router(config)# ip access-list standard Suppressed
Router(config-std-nacl)# permit 10.16.6.0 0.0.0.255
Router({config)# route-map SuppressMap
Router(config-route-map)# match ip address Suppressed

An engineer is implementing BGP selective prefix suppression. The router must advertise only 10.16.4.0/24,10.16.5.0/24. and summarized route 10.16.0.0/21. and

suppress 10.16.6.0/24. Which configuration must the engineer apply to the router?
A)

Router (config)# router bgp 300
Router(config-router)# aggregate-address 10.16.6.0 235.255.252.0 as-set suppress-map SuppressMap
B)
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Router (config)# router bgp 300

Router(config-router)® aggreqate-address 10.16.0.0 255.255.248.0 as-set suppress-map SuppressMap

C)
Router (config)# router bgp 300

Router{config.router)# aggregate-address 10.16.6.0 255.255.255.0 as-set suppress-map SuppressMap

D)
Router (config)# router bgp 300

Router(config-router)# aggregate-address 10.16.0.0 255.255.255.0 as-set suppress-map unSuppressMap

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

NEW QUESTION 401
Refer to the exhibit.

PEl#=zhow vRAY el .1.‘]_.lr|.' L = arnal | L
O5FFv3 100 addre family 1ipwv4
Type=5% AS External Link St
LE age:
Typa: AS External Link
Link State ID: f
Advertising Boutelri: 172.20.240.°7
LS Seq Number: 20000006
hecksum: 0xFTAA
Lendgth:
Prefix Address: 0.0.0.0
Prefix Length: O, Options: None
Metric Type: 1 (Comparable directly to
Metric: 50
External Eoute Tad: 100

ink

SCale

_sBOF N

mat

Ll

) |

Routers P4 and P5 receive the 0.0.0.0/0 route from the ISP via eBGP peering. P4 is the primary Internet gateway router, and P5 is its backup. P5 is already
advertising a default route into the OSPF domain. Which configuration must be applied to P4 so that it advertises a default route into OSPF and becomes the

primary Internet gateway for the network?

A. configure terminalrouter ospfv3 100address-family ipv4 unicastdefault-information originate metric 40 metric-type 2 end

B. configure terminal router ospfv3 100address-family ipv4 unicastdefault-information originate metric 40 metric-type 1 end

C. configure terminal router ospfv3 100address-family ipv4 unicastredistribute bgp 65500 metric 40 metric-type 1 end

D. configure terminal router ospfv3 100address-family ipv4 unicastdefault-information originate always metric 40 metric-type 1 end

Answer: A

NEW QUESTION 405
Refer to the exhibit:

Router 1:

netconf-yang
netconf-yang feature candidate-datastore

Which statement describes this configuration?

A. Router 1 has its running configuration locked so changes can be made only when the administrator issues a kill session
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B. Router 1 can be remotely managed by the CLI using Telnet
C. Router 1 has a new data store to collect SNMP information, but configuration must still be done at the CLI only
D. Router 1 has a temporary data store where a copy of the running configuration can be manipulated and verified before committing the configuration

Answer: D

NEW QUESTION 410
Refer to the exhibit

BGP is running in the core of the service provider to exchange routes for its customers, and OSPF serves as the PE-CE routing protocol. The service provider s
existing customer at CE1 is opening a new office in a different geographical location connected via CE2. A network engineer must update the BGP implementation
so that PE1 and PE2 will share routes and provide communication between CE1 and CE2 Which action must the engineer take?

A. Configured CEZ2 to establish a BGP relationship with PE1 and PE2

B. Configure CE1 and CE2 with a pseudowire that will run over the service provider core.

C. Configure PE1 and PE2 to mutually redistribute BGP and OSPF in the VRF for the customer.
D. Configure PE1 and PE2 to redistribute OSPF from the VRF for the customer into BGPPUM

Answer: C

NEW QUESTION 411
Drag and drop the LDP features from the left onto the correct usages on the right.

session protection it prevents valid rﬂutgs from being mferwritten with
new ones until labels are assigned.

S It allows stale label bindings to be used for a period

IGP synchronizatio
o i A of time while an LDP neighbor is unreachable.
targeted-hello accept It uses LDP Targeted hellos to protect LDP
sessions.
It uses LDP to form neighborship between non-
SEESL L directly connected routers.

A. Mastered
B. Not Mastered

Answer: A
Explanation:

1: graceful restart 2: IGP synchronization 3: session protection 4: targeted-hello accept

NEW QUESTION 416
A network engineer is configuring a BGP route policy for the SUBNET prefix set. Matching traffic must be dropped, and other traffic must have its MED value set to
400 and community 4:400 added to the route. Which configuration must an engineer apply?
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route-policy CISCO
if destination in SUBNET then
drop
else
set med 400
set community (4:400) additive
endif
end-policy
end

route-policy CISCO
if destination in SUBNET then
drop
endif
set med 400
if community matches-any SUBNET then
set local-preference 400
set med 500
set community (4:400) additive
endif
end-policy
end

route-policy SUBNET
if destination in SUBNET then
drop
endif
set med 400
set local-preference 400
if community matches-any SUBNET then
set community (4:400)
endif
end-policy
end

route-policy SUBNET
if destination in BGP then
drop
else
set med 400
set community (4:400)
endif
end-policy
end

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 421
Which feature will an operator use while implementing MPLS TE on customer's network, to prevent an LSP from using any overseas inks?

A. bandwidth
B. affinity

C. explicit path
D. SLRG

Answer: C

NEW QUESTION 425

What is a role of NSO?

A. It automates the deployment of access points with its built-in wireless LAN controller.
B. It manages WAN infrastructure using a virtual switch.

C. It provides full lifecycle management of a device.

D. It resides on a hypervisor that runs the Windows OS.

Answer: C

NEW QUESTION 426
Refer to the exhibit.
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The network engineer is performing end-to-end MPLS path testing with these conditions:
» Users must perform MPLS OAM for all available same-cost paths from R1 to R4.
» Traceroute operations must return all of the next-hop IP details. Which configuration meets these requirements?

A. traceroute mpls ipv4 10.10.10.4 255.255.255.255 verbose

B. traceroute mpls multipath ipv4 10.10.10.4 255.255.255.255

C. traceroute mpls multipath ipv4 10.10.10.4 255.255.255.255 verbose
D. traceroute mpls ipv4 10.10.10.4 255.255.255.255 source 10.10.10.1

Answer: B

NEW QUESTION 428
Refer to the exhibit.

RElf#show ip bgp

BGP table version is 3, local router ID is 50.50.50.1
STATUS Codes: 3 suppresssd, d damped, h hisTory, ™ valid, > bestg, 1 - internal,
r RIB-failure, 5 S5tale

Crigin codes: = IGF, = = EGF, ? = incomplete
Network Haxt Hop Mapric LocPrf Weight Fath
v 22.22.22.22f532 50.50.50.2 0 100 500 ?
e 40.40.40.,2 Q 200 0 400 7
b 30.30.30.2 0 0 300 300 ?
- 20.20.20.2 0 g 200 7

Rléshow ip bgp 22.22.22.22
BGF routing table eantery for 22.22.22.22/32, version 3
Patha: (4 available, beat $1, table Defaulc—IP-Routing-Table)
Flag: 0Oxg820
Advertised no update-groups:

500
£0,50.50.2 from 50.50.50.2 (50.50.50.2)
Origin incomplete, mecric 0, localpref 100, weight 100, wvalid, external, besc
400

40 .40.40.2 from 40.490.40.2 (40.40.40.2)
Origin incompléete, metric 0, localpref 200, valid, extérnal
300 300
30.30.30.2 from 30.30.30.2 (30.30.30.2)
Origin incomplece, mecric O, localpre?® 100, valid, exrernal

20

0.20.
ocalp

|
ef 100, valid, external

i k2

i
-
te, metr

An engineer wants to determine which paths are best, second best, third best, and fourth best. Drag and drop the peer addresses on the left to the corresponding

BGP best-path selection order on the right.

 maxe st Pt
i ] ) 3{3.3{13—{]42 ] ] ) 2nd Best Path
40.40.40,2 3rd Best Path
50.50.50.2 4th Best Path
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A. Mastered
B. Not Mastered

Answer: A

Explanation:

Best — 50.50.50.2

2nd Best — 40.40.40.2
3rd Best — 20.20.20.2

44th Best — 30.30.30.2

NEW QUESTION 432
Refer to the exhibit.

R1

ip cer disctributed
mpls ldp graceful-restart
interface GigabitEthernet 0/0/1

mpls ip
mpls label protocol ldp

What is the effect of this configuration?

A. R1 supports a graceful restart operation on the peer, even if graceful restart is disabled on the peer.
B. R1 supports a peer that is configured for LDP SSO/NSF as the peer recovers from an outage.
C. R1 failovers only to a peer that is configured for LDP SSO/NSF-.

D. R1 failovers to any peer.

Answer: B

NEW QUESTION 435

Egress PE NAT is being used via a single centralized router to provide Internet access to L3VPN customers. Which description of the NAT operation is true?

A. Users m different VRFs cannot share the same outside global IP address

B. The NAT table contains a field to identify the inside VRF of a translation

C. Multiple address pools are needed for the same L3VPN because each site has a separate NAT
D. The different L3VPNSs using the Internet access must not have IP overlaps internally

Answer: B

NEW QUESTION 436
Refer to the exhibit.

RP/B/RPO/CPU@:XR1#sh lpts pifib hardware entry location 8/8/CPU8
L4 Protocol ICMP

VRF ID :any

Destination IP :oany

Source IP/BFD Disc: any

Port/Type : Port:8

Source Port any

Is Fragment %)

Is SYN any

Is Bundle na

Is Virtual : na

Interface 1 any

Slice : @

V/L/T/F : ©/IPv4_STACK/@/ICMP-local
DestNode : Local

DestAddr Punt

Accepted/Dropped 16810/14

Po/Ar/Bu : 19/@pps/108ms

State : pl_pifib_state_complete

While troubleshooting the network, a network operator with an employee id: 3812:12:993 is trying to ping XR1. Which result should the operator expect when trying
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to ping to an XR1 local address?

A. ICMP traffic works at a policed rate of 19 bytes per second every 100 ms
B. All ICMP traffic responds successfully.

C. All ICMP traffic is dropped.

D. ICMP traffic works at a policed rate of 19 packets every 100 ms.

Answer: B

NEW QUESTION 438
Refer to the exhibit:

PE-Afshow 1ip bgp vpnvd vrf Customer-A neighbors 10.10.10.2 routes
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FE-Afconfig t

Enter conliguratlion commandsa, cocne par line. End waith CNTL/Z.
PE-Alconfig) #ip prefix-list ALLOW permit 192.168.0.0/16 ge 17 le 19
FE-Alconfig) #router bgp 65000

nfig-router) faddress-family ipvd vrf Customer-A

ig-zrouter-af) fneighbor 10.10.10.2 prefix-list ALLOW in

Which three outcomes occur if the prefix list is added to the neighbor? (Choose three)

== LT

ol

A. 192.168 0.0/19 is denie

B. 192.168 0.0/17 is denied.
C. 192.168 0.0/17 is permitted
D. 192.168.0.0/16 is denied
E. 192.168 0.0/16 is permitted
F. 192.168 0.0/19 is permitted

Answer: CDF

NEW QUESTION 439
What is a characteristic of data modeling language?

A. It provides an interface for state data.

B. It separates configuration and state data.

C. It ensures devices are individually configured.
D. It replaces SNMP.

Answer: B

NEW QUESTION 443

A network engineer is configuring a router to send multicast traffic for the 239.10.10.10 group. Which configuration must an .... forward the traffic?
A. Cisco(config)# interface ethernet 1/0 Cisco(config-if)# ip igmp max-groups action replace

B. Cisco(config)# interface ethernet 1/0 Cisco(config-if)# ip igmp filter

C. Cisco(config)# interface ethernet 1/0 Cisco(config-if)# ip igmp access-group 239.10.10.10

D. Cisco(config)# interface ethernet 1/0 Cisco(config-if)# ip igmp join-group 239.10.10.10

Answer: D

NEW QUESTION 446

An engineer Is implementing NSR with OSPF on a large campus that requires high availability. Which task must an engineer perform to complete the process with
minimal disruption to traffic?

A. Reset OSPF neighbor sessions to maintain state Information during router switchover

B. Configure the device to repopulate state information using routing updates received from the BDR

C. increase the keepalive interval on the OSPF neighbors so that traffic continues to pass during the switchover.

D. Ensure that the dual RP has synchronized their state information before performing the switchover operation.

Answer: D

NEW QUESTION 447
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Refer to the exhibit.
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The customer that owns the CE-1, CE-2, and CE-3 routers purchased point-to-point E-Line services from the Carrier Ethernet provider. The service provider is
delivering multiplexed UNI at the customer HQ location on PE-1 and untagged UNIs at the PE-2 and PE-3 locations. Additionally, the customer provided these

VLAN to EVC mapping requirements:

* EVC 1 between CE-1 and CE-2 must be provisioned with C-VLAN 12 at the HQ location.
* EVC 2 between CE-1 and CE-3 must be provisioned with C-VLAN 13 at the HQ location.
Which configuration must the network engineer implement on the PE routers to provide end-to-end Carrier Ethernet service to the customer?

A. Text Description automatically generated

B. Text Description automatically generated
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On PE-1:

interface GigabitEthernet0/1

service instance 1 ethernet

encapsulation dot1q 12

rewrite ingress tag pop 1

xconnect 172.20.20.2 1001201 encapsulation mpls
|

service instance 2 ethernet

encapsulation dot1q 13

rewrite ingress tag pop 1

xconnect 172.20.20.3 1001301 encapsulation mpls

On PE-2:

interface GigabitEthernet0/2

service instance 1 ethernet

encapsulation untagged

xconnect 172.20.20.1 1001201 encapsulation mpls

On PE-3:

interface GigabitEthernet0/3
service instance 1 ethernet

encapsulation untagged
xconnect 172.20.20.1 1001301 encapsulation mpls
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On PE-1:

interface GigabitEthernet0/1

service instance 1 ethernet

encapsulation dot1q 12

rewrite ingress tag pop 1

xconnect 172.20.20.2 1001201 encapsulation mpls
I

service instance 2 ethernet

encapsulation dot1q 13

rewrite ingress tag pop 1

xconnect 172.20.20.3 1001301 encapsulation mpls

On PE-2:

interface GigabitEthernet0/2

service instance 1 ethernet

encapsulation untagged

rewrite ingress tag push dot1qg 12 symmetric
xconnect 172.20.20.1 1001201 encapsulation mpls

On PE-3:

interface GigabitEthernet0/3

encapsulation untagged

rewrite ingress tag push dot1q 13 symmetric
xconnect 172.20.20.1 1001301 encapsulation mpls

C. Text Description automatically generated On PE-1:

interface GigabitEthernet0/1

service instance 1 ethernet

encapsulation dot1g 12

rewrite ingress tag pop 1

xconnect 172.20.20.2 1001301 encapsulation mpls
!

service instance 2 ethernet

encapsulation dot1q 13

rewrite ingress tag pop 1

xconnect 172.20.20.3 1001201 encapsulation mpls

On PE-2:

interface GigabitEthernet0/2

service instance 1 ethernet

encapsulation untagged

xconnect 172.20.20.1 1001201 encapsulation mpls

On PE-3:

interface GigabitEthernet0/3

service instance 1 ethernet

encapsulation untagged

xconnect 172.20.20.1 1001301 encapsulation mpls

D. Text, letter Description automatically generated
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On PE-1:

interface GigabitEthernet0/1

service instance 1 ethernet

encapsulation dot1q 12

rewrite ingress tag pop 1 symmetric

xconnect 172.20.20.2 1001201 encapsulation mpls
|

service instance 2 ethernet

encapsulation dot1q 13

rewrite ingress tag pop 1 symmetric

xconnect 172.20.20.3 1001301 encapsulation mpls

On PE-2:

interface GigabitEthernet0/2

service instance 1 ethernet

encapsulation untagged

xconnect 172.20.20.1 1001201 encapsulation mpls

On PE-3:

interface GigabitEthernet0/3

service instance 1 ethernet

encapsulation untagged

xconnect 172.20.20.1 1001301 encapsulation mpls

Answer: B

NEW QUESTION 448
Refer to the exhibit.

router bgp 100
address-family ipv4 unicast

address-family vpnv4 unicast
|

neighbor 10.19.20.20
remote=-as 1
address-family ipv4 unicast

An engineer is trying to implement BGP configuration on a router Which configuration error prevents the ASBR from establishing a BGP neighborship to a directly

connected BGP speaker?

A. The routing policy is absent for this Cisco I0S XR eBGP instance.

B. The IPv4 address family configuration under neighbor configuration-mode must be removed.

C. The VPNv4 address family interferes with the 8GP IPv4 address family negotiations.

D. The TCP session parameters are not specified.

Answer: D

Explanation:
https://www.cisco.com/c/en/us/td/docs/routers/xr12000/software/xr12k_r41/routing/configuration/guide/routing
NEW QUESTION 453

BGP has been implemented on a IOS XR router. Which configuration sends BGP IPv4 labels to build inter-domain LSPs?
A. router bgp 65515 address-family ipv4 unicast neighbor 172.16.70.23 send-community extended

B. router bgp 65515 no bgp default ipv4-unicast

C. router bgp 65515 address-family ipv4 unicast neighbor 172.16.70.23 send-community

D. router bgp 65515 neighbor 172.16.70.23 address-family ipv4 labeled-unicast

Answer: D

NEW QUESTION 454
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Refer to the exhibit.

- - iBGP

» eBGP

&
E

Service
Provider

—
U— 10.10.10.0/30
enabled
Route Bikibag
Validator
EB#show bgp origin-as wvalidity
Network Next Hop Metric LocPrf Weight Path
D*> 22.110.26.0/24 10.10.10.2 v} 0 200 7
D*> 101.20.359.0/24 10.10.10.2 0 0 200 ?
D*> 192.168.22.1/32 10.10.10.2 0 0 200 ?

A network engineer is configuring router RB to secure BGP advertisements against route hijacking activity. RB must validate all prefixes that it receives from origin
AS 200 before installing them in the BGP route table. Which configuration meets the requirement?

A. RB(config)# router bgp 100RB(config-router)# address-family ipv4 unicast RB(config-router-af)# bgp bestpath origin-as use validity

B. RB(config-bgp)# router bgp 100RB(config-bgp)# bgp origin-as validation signal ibgp RB(config-bgp)# bgp bestpath origin-as allow invalid
C. RB(config-bgp)# router bgp 100RB(config-bgp)# bgp origin-as validation time off

D. RB(config)# router bgp 100RB(config-router)# address-family ipv4 unicast PB(config-router-af)# bgp origin-as validation enable

Answer: C

NEW QUESTION 456
A network engineer is implementing NetFlow to observe traffic patterns on the network. The engineer is planning to review the patterns to help plan future

strategies for monitoring and preventing congestion as the network grows. If the captures must include BGP next-hop flows, which configuration must the engineer
apply to the router?

A. ip cefip flow-export version 5 bgp-nexthopip flow-export destination 192.168.1.1 9995 interface gigabitethernet 1/0/1ip flow egress

B. ip cefip flow-export version 9 bgp-nexthopip flow-export destination 192.168.1.1 9996 interface gigabitethernet 1/0/1ip flow ingress

C. ip cefip flow-export version 5ip flow-export destination 192.168.1.1 9995 interface gigabitethernet 1/0/1ip flow ingresscdp enable

D. no ip cefip flow-export version 9ip flow-export destination 192.168.1.1 9996 interface gigabitethernet 1/0/1ip flow ingress ip flow egress

Answer: B

NEW QUESTION 458
Refer to the exhibit:
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192.168.0.0/24

|3 _J_.4

A 1:
R1 R2 R3 R4
R1 R3
router isis router isis

net 52.0011.0000.0000.0001.00

net 52.0022.0000.0000.0003.00

interface gigabitethernet0/1 interface gigabitethernet/1
ip address 192.168.0.1 ip address 192.168.0.3
2556.255.255.0 255.255.255.0
ip router isis ip router isis
R2 R4
router isis router isis

net 52.0022.0000.0000.0002.00

net 52.0011.0000.0000.0004.00

interface gigabitethernet0/1 interface gigabitethernet0/1
ip address 192.168.0.2 ip address 192.168.0.4
255.255.255.0 255.255.255.0
ip router isis ip router isis

Which two statements about the ISIS topology are true? (Choose two.)

A. All four routers are operating as Level 1 routers only.
B. All four routers are operating as Level 2 routers only.
C. All four routers are operating as Level 1-2 routers.
D. R1 and R2 are Level 2 neighbors.

E. R1 and R4 are Level 2 neighbors

Answer: CD

NEW QUESTION 461

After implement MPLS protocol for multiple VRFs on a single Cisco device, the engineer notices all VRFs on the router still do to not LDP session protection
feature enabled. Which configuration must the engineer apply to enable the LDP session protection feature FOR LDP neighbors within each VRF?

A. Configure LDP session protection globally on the device only.

B. Configure LDP session protection globally on the device and on each neighbor that requires session protection.
C. Configure LDP session authentication on the device to enable LDP session protection on each VRF automatically.

D. Configure LDP session protection within the individual VRFs.

Answer: D

NEW QUESTION 465
Which type of attack is a Protocol attack?

A. HTTP flood
B. TFTP flood
C. SYN flood
D. Slowlorls

Answer: C

Explanation:
Protocol Attacks

Includes SYN floods, fragmented packet attacks, Ping of Death, Smurf DDoS and more. This type of attack consumes actual server resources,

NEW QUESTION 470
Refer to the exhibit.
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Tier 1 ISP A purchased several Tier 2 ISPs to increase their customer base and provide more regional coverage. ISP A plans to implement MPLS services in the
access layer, with scalability up to 100.1 devices In one packet network and service recovery up to 50 ms. The network architect decided to use different
independent IGP and LDP domains and interconnect LSPs that are based on RFC 3107. Which two actions must the network engineer perform to meet the

requirements? (Choose two.)

A. Implement BGP PIC core functionality on routers R2 and R3.

B. Configure three OSPF areas, with Area 0 In the core domain, and Areas 2 and 3 in the aggregation domain.
C. Implement BGP connectivity between routers R1 and R4 with VPNv4 address family enabled.
D. Implement BGP inline RR functionality with next-hop-self capabilities on routers R2 and R3.

E. Implement the IS-IS routing protocol on the access domain.

Answer: AD

NEW QUESTION 475

A network architect décides to expand the scope of the multicast deployment within the company network the network is already using PIM-SM with a static RP
that supports a high-bandwidth. video-based training application that s heavily used by the employees, but excessive bandwidth usage is a concern How must the

engineer update the network to provide a more efficient multicast implementation'?

A. Configure IGMP to manage the multicast hosts on each LAN

B. implement BSR to support dynamic RP noatification.

C. Deploy ICMP to Improve multicast reachability across the network using static RP.
D. Implement STP to improve switching performance for multicast data.

Answer: B
NEW QUESTION 478
A network team has failed to implement 1S-IS multitopology. What is the reason for it?

A. The router did not support VRFs.
B. The routing process did not support extended metrics.

C. The router did not have Cisco Discovery Protocol and Cisco Express Forwarding disabled.

D. The routing process supported Level 1 only.

Answer: B

NEW QUESTION 480

A network engineer is implementing BFD configuration changes on a customer's equipment. How is the bfd interval configuration on the interface disconnected?

A. The status of the interface changes.

B. The IPv4 or IPv6 address configuration on the interface changes.

C. It is automatically disconnected when the BFD-configured subinterface is removed.
D. It is automatically disconnected when the BFD main interface is removed.

Answer: D

NEW QUESTION 482
Refer to the exhibit.

R1

router bgp 65000
router-id 192.168.1.1
no bgp default ipvd-unicast
neighbor 192 168.1.2 remote-as 65001

Which task completes the configuration?

A. Specify the maximum number of prefixes that R1 receives from neighbor 192.168.1.2.

B. Specify the source interface in the neighbor statement.
C. Specify the activate neighbor 192.168.1.2 under the IPv4 address family.
D. Specify the local-as value in the neighbor statement.

Answer: C

NEW QUESTION 484
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An engineer is reviewing the BGP configuration. Which routes must be advertised to 10.10.10.1

A. Local routes are permitted, and routes from other ASNs are denied.
B. All routes whether local or from other ASNs are denied.

C. Local routes are denied, and routes from other ASNs are permitted.
D. All routes whether local or from other ASNs are permitted.

Answer: D

NEW QUESTION 486
A network engineer is configuring RIP as the routing protocol between multiple PEs and CEs. The engineer must avoid advertising the same routes back to their
sources. Which action should be performed on the routers to accomplish this task?

A. Configure a different route distinguisher for each prefix.
B. Define the site of origin on each interface.

C. Define VRFs on each device to separate the traffic.

D. Enable bidirectional forwarding detection on each device.

Answer: B

Explanation:

Although the SoO is set on BGP address family configuration mode not interface mode, but it is applied to the interface based on this reference. "The configuration
of the SoO extended community allows MPLS VPN traffic to be filtered on a per-site basis. The SoO extended community is configured in an inbound BGP route
map on the PE router and is applied to the interface.”
https://www.cisco.com/c/en/us/td/docs/switches/lan/catalyst3850/software/release/16-12/configuration_guide/m

NEW QUESTION 489
Refer to the exhibit.

Routers R1 through R5 are being deployed within the core of a service provider running BGP The core supports distribution of VPNv4 routes using MPLS. R3
currently has multiple paths to reach R4. A network engineer must implement BGP attributes so that R3 can reach R4 via R1. Which action must the engineer take
to meet the requirement?

A. Configure R3 so the route to R4 through R1 will have a higher weight than the route from R2 or R5.

B. Configure R2 to send the route from R4 to R1 using a higher metric than what is advertised to R3.

C. Configure R5 to send the route from R4 to R1 using a longer AS path than the AS path that it receives from R1 or R2.
D. Configure R3 so the route to R4 through R1 will have a lower local preference than the route from R2 or R5

Answer: D

NEW QUESTION 493
Refer to the exhibit.
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Service
Provider

LAN
10.0.12.128/25

Receivers

A network engineer is implementing multicast services on CPE-1 and CPE-2. CPE-1 must be configured as the preferred IGMP querier for the LAN segment. PIM-

SM must be implemented on the LAN interfaces with an IGMP version that supports (*, G) joins only. Which configurations must the engineer implement on CPE-1
and CPE-27?

A. On CPE-1l:interface GigabitEthernetO/1lip address 10.0.12.129 255.255.255.128ip pim sparse-mode ip igmp version 2 On CPE-2:interface GigabitEthernet0/1ip
address 10.0.12.130 255.255.255.128ip pim sparse-mode ip igmp version 2

B. On CPE-Ll:interface GigabitEthernet0/lip address 10.0.12.130 255.255.255.128ip pim sparse-mode ip igmp version 3 On CPE-2:interface GigabitEthernet0/1ip
address 10.0.12.129 255.255.255. 128ip pim sparse-mode ip igmp version 3

C. On CPE-Ll:interface GigabitEthernet0/1lip address 10.0.12.130 255.255.255.128ip pim sparse-mode ip igmp version 2 On CPE-2:interface GigabitEthernet0/1lip
address 10.0.12.129 255.255.255.128ip pim sparse-mode ip igmp version 2

D. On CPE-1:interface GigabitEthernetO/lip address 10.0.12.129 255.255.255.128ip pim sparse-mode ip igmp version 3 On CPE-2:interface GigabitEthernetO/1ip
address 10.0.12.130 255.255.255.128ip pim sparse-mode ip igmp version 3

Answer: A

NEW QUESTION 495

Refer to the exhibit:

| POST https://router1:8000/api/mo/uni/l )escriptions.xmi/

What does the REST APl command do?

A. It retrieves the information requested by Descriptions xml
B. It removes the information identified by Descriptions xml
C. It executes the commands specified in Descriptions xml
D. It displays the information identified by Descriptions xml

Answer: C

NEW QUESTION 496
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